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UGC NET PAPER 2 DECEMBER 27, 2021 SHIFT 1 SANSKRIT QUESTION PAPER

Topic:- Sanskrit_SetZ_ A

1) ‘8wt Steor oefsfg wosa R yara ag wowme: | s Asgzra Samn wi?[Question ID = 1451][Question Description =
S$2_qSNz_PG_SANS_QO01]
1. ztam [Option ID = 5801]
2. Fomm: arsmy [Option 1D = 5802]
3. wia: [Option 1D = 5803]
4, wrw: [Option ID = 5804]

2) arerdadie - sregafdatier - xped sacn wi?[Question ID = 1452][Question Description = §2_gS5Nz_PG_5ANS_Q02]
1. ameq [Option 1D = 5805]

2. aremf [Option ID = 5806]

3. g [Option ID = 5807]

4. smerfirsdowg [Option (D = 5808]

3) ‘ufdord gameli gE Fher weE?[Question ID = 1453][Question Description = $2_qSNz_PG_SANS_Q03]
afesiamona [Option 1D = 5809]

sismrmend [Option 1D = 5810]

gelagare] [Option 1D = 5811]

o - FEmEE [Option 1D = 5812]

oW

4) gEPREAY avisl siuea?[Question ID = 1454][Question Description = $52_qSNz_PG_SANS_Q04]
1. gomioaa: [Option 1D = 5813)

2. Tam S [Option (D = 5814]

3. ameaer [Option ID = 5815]

4. wzwasE [Option 1D = 5816]

5) ‘o1 graenl o G s wegidl ‘gawe:' iy agva armnaaaeilsia?

[Question ID = 1455][Question Description = 52_qS5Nz_PG_SANS_Q05]
1. TAREE:
[Option ID = 5817]
z. BarsiE
[Option ID = 5818]
3. Tfﬁﬁ?ﬁ:
[Option ID = 5819]
4, M-

[Option ID = 5820]

6) TR ATIRGIH o4r: - SR #Aogiol USSR USRI IIREpR - AarmmgERaisiFa?[Question ID = 1456][Question Description =
S$2_qSNz_PG_SANS_QO06]

. gamaie [Option ID = 5821]

. sfefsm [Option 1D = 5822]

gt [Option 1D = 5823]

g [Option (D = 5824]

oW

7) ‘= o gerne sgen RE emarforematfer’ an WRIGN At w1?[Question ID = 1457][Question Description = $2_qSNz_PG_SANS_Q07]
. 30 [Option 1D = 5825]

. #fie [Option ID = 5826]

arE [Option ID = 5827]

. s [Option 1D = 5828]

o o

8) spedogiftienwana soassBa?[Question ID = 1458][Question Description = S2_gSNz_PG_SANS_Q08]
. Bt [Option D = 5829]

atagr: [Option D = 5830]

. == [Option 1D = 5831]

aggeniaes: [Option 1D = 5832]

O

9) ‘Aiqfeamany, WanRroaan dera: Araee add ~-[Question ID = 1459][Question Description = 52_¢g5Nz_PG_SANS_Q09]
1, digmefas [Option ID = 5833]

2. Sermskier [Option 1D = 5834]

3, emikreefasr [Option ID = 5835]

4. wawEgmsiaw [Option 1D = 5836]

10) Adecolenanrz ARbiAgAY @1 swren o sEfa?[Question ID = 1460][Question Description = 52_qSNz_PG_5ANS_Q10]
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. Emgivrrer [Option (D = 5837
. Jre [Option ID = 5838]
arErre [Option ID = 5839]

. smfsEE [Option (D = 5840]

oW

11) aARrcefolcEr e scaoll wea farder?[Question ID = 1461][Question Description = $2_qSNz_PG_SANS_Q11]
1. afdar - 30 - a=wEnds [Option 1D = 5841]
2. sy - e - FAees [Option D = 5842 ]
3. A - Bew - graEe: [Option |D = 5843]
4. i - sich - cuifty [Option D = 5844]

12) aecelonerarraelsiyaayg gitrida

[Question ID = 1462][Question Description = 52_q5Nz_PG_SANS_Q12]
1. atar [Option 1D = 5845]

2. e [Option 1D = 5846]

3. frgr [Option 1D = 5847]

4. wereiA [Option 1D = 5848]

13) arelai=gd wferen A 3o -[Question ID = 1463][Question Description = 52_q5Nz_PG_SANS_Q13]
e [Option 1D = 5849]
wrgifer. [Option 1D = 5850]
. amcfr [Option 1D = 5851]
gaifder: [Option 1D = 5852]

oWk b

14) FcwicoUpild dooadnR Mradal 3 savsiHaerDy g HAdetly 3r s

[Question ID = 1464][Question Description = 52_qS5Nz_PG_SANS_Q14]
1. oA AACIERT-3wRE,
[Option ID = 5853]
2. oo SRS a:
[Option ID = 5854]
3. SR
[Option ID = 5855]
4. yrERCACTAIRIT S TTAT T

[Option ID = 5856]

15) Sombioeii AgrpaaaraAicoraHRIGIEHEIT -

[Question ID = 1465][Question Description = 52_qSNz_PG_SANS_Q15]
1. =8 - @9y [Option 1D = 5857]

2. =g - geswy [Option 1D = 5858]

3. ol - eisacan [Option ID = 5859]

4. wgr: - aecan [Option 1D = 5860]

16) Hizcamisorr s auelean skt e 3t -[Question ID = 1466][Question Description = S2_qSNz_PG_SANS_Q16]
1. gwa: [Qption ID = 5861]

2. aceepd [Option 1D = 5862]

3. @ [Option 1D = 5863]

4. szzor: [Option D = 5864]

17) eSOy sIRISIEIT Sfodl ol
[Question ID = 1467][Question Description = $2_qSNz_PG_SANS_Q17]
1. g&Er -sRSTgeiEE
[Option 1D = 5865]
2. = - gESogiI:
[Option ID = 5866]
3. geoEns:
[Option ID = 5867]
4, FEFIRERIYRT:

[Option ID = 5868]

18) urforefter frgnaienes straarcwra SrasBa

[Question ID = 1468][Question Description = 52_qSNz_PG_5ANS_Q18]
1. &fn [Option ID = 5869]

2. F=uw [Option 1D = 5870]

3, =iicht [Option 1D = 5871)

4, ampla [Option ID = 5872]

19) Rpra PRAGHER 9, §, q (99 3o Yv1) tdeiion ui¥arderaa: @ ?[Question ID = 1469][Question Description =
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$2_qSNz_PG_SANS_Q19]

1. s = ® ;g — ;9 — & [Option ID = 5873]
2, o — &g —4;u — o[Option ID = 5874)
3w — g — ;A — g [Option [D = 5875]
4, o —ay) g — ;9 — w [Option ID = 5876]

20) areiskear MRIdR ubarnzR oaa skl 9v geisia?[Question ID = 1470][Question Description =
$2_qSNz_PG_SANS_Q20]

1. drard [Option 1D = 5877]

2. i [Option ID = 5878]

3. amiish [Option ID = 5879]

4, ofeew [Option ID = 5880]

21) ‘urarcaay s waa wa Z[Question 1D = 1471][Question Description = $2_qSNz_PG_SANS_Q21]
. oz [Option ID = 5881]

. acefiag: [Option 1D = 5882]

. acgrEm: [Option (D = 5883]

wgdifE: [Option ID = 5884]

R

22) FT@ma CAEBINGMT "Hafdl' Seasa oI 355 siafa ?[Question ID = 1472][Question Description = 52_qSNz_PG_SANS_Q22]
1. femremse [Option 1D = 5885]

2. # [Option ID = 5886]

3. frsr [Option 1D = 5887]

4. ugw [Option ID = 5888]

23) ¥t graaermratsiEFeay iy grermea: ercisf¥a -[Question ID = 1473][Question Description = 52_qSNz_PG_SANS_Q23]
1. et [Option (D = 5889]

2. ft [Option 1D = 5890]

3. smstt [Option 1D = 5891]

4. grzad [Option 1D = 5892]

24) BramgdoREneas seamaw: @ we saf?

[Question ID = 1474][Question Description = 52_qS5Nz_PG_SANS_Q24]
1. afroIvEs:

[Option ID = 5893]
2. T=Es:

[Option ID = 5894]
3. TS

[Option ID = 5895]
4, SISToE

[Option ID = 5896]

25) ‘shir yigermeal: eol oo a1 o sk ool avdd -

[Question ID = 1475][Question Description = 52_qSNz_PG_SANS_Q25]
amasoaedaz= [Option [0 = 5897]

. Silegz [Option ID = 5898]

s [Option (D = 5899]

Frqarerz= [Option 1D = 5900]

o R

26) 'arwl FAEETATGISTAN RIS Ul

76 dIaerdeu Yfaurfeaaendo solol -

[Question ID = 1476][Question Description = $2_qSNz_PG_SANS_Q26]
1. amaef - s [Option 1D = 5901]

2. amwf - aesafar [Option 1D = 5902]

3. s - frgardsr [Option 1D = 5903]
4, s - e [Option 1D = 5904]

27) ‘zrlat¥as s ez added -

[Question ID = 1477][Question Description = $2_qSNz_PG_SANS_Q27]
1. gffad: [Option ID = 5905]

2. addm: [Option 1D = 5906]

3. =merz: [Option 1D = 5907]

4. smfE: [Option ID = 5908]

28) “ger Byoa oRrengwed ASBHIT AvAl Ay
g adsl widner e Roafa?
[Question ID = 1478][Question Description = 52_q5Nz_PG_SANS_Q28]
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| 1. Herss

[Option ID = 5909]
2. FeaEatEt

[Option ID = 5910]
3. Femardei

[Option ID = 5911]
4, gpels

[Option ID = 5912]

29) ‘gpzrai wanmet Rigul s Storas: afimey sitsr dor sygory -~~~

sler srerwes wra Faenai e ?

[Question ID = 1479][Question Description = 52_qS5Nz_PG_SANS_Q29]
e [Option 1D = 5913]

wreFrE, [Option D = 5914]

T 71 [Option 1D = 5915]
g [Option 1D = 5916]

bt B

30) T widsaarnioa sseraufadia:
AL ] Tl ATHGoID] IH: -
sf1 usl wiiser o oot ?

[Question ID = 1480][Question Description = 52_q5Nz_PG_SANS_Q30]
. erpAraiEt [Option ID = 5917]

. wgFEiEA [Option D = 5918]
. formrs Fed [Option 1D = 5919]
. T e [Option 1D = 5920)

P bl B —

31) "JiaeiRe 9 YRE: oM sRrggncierEionit woeaaaent giy:" st deiufdeea?[Question ID = 1481][Question Description =
S2_qSNz_PG_SANS_Q31]

. ardizer [Option (D = 5921]

. TgrdftEer [Option |D = 5922]

. grparda [Option 1D = 5923]
. 7erarET [Option ID = 5924]

o =

32) "7 vl safd serfoa gEpaRen:

B o] A= YIvol of & ae

Feafive] ud @ AcioRY adda ?

[Question ID = 1482][Question Description = 52_q5Nz_PG_SANS_Q32]
fgmaitfer: [Option 1D = 5925]

. Farren [Option 1D = 5%926]

. Frgefen [Option 1D = 5927]
geaEiern [Option 1D = 5928]

o B =

33) ‘srnen: snfPawware ater mosew s Rra e ofas o affansia 7[Question ID = 1483][Question Description =
§2_qSNz_PG_SANS_Q33]

1. seremws [Option 1D = 5929]

2. arierem? [Option 1D = 5930]

3. sz [Option ID = 5931]

4. FrRwamoms [Option ID = 5932]

34) FEEa FTrald ©Id Jjgusd fergonsi3a?[Question ID = 1484][Question Description = 52_qSNz_PG_SANS_Q34]

sEEpeeE [Option 1D = 5933]
e [Option 10 = 5934]
e [Option 1D = 5935]
TaEEEeE [Option (D = 5936]

-

35) zfafermsivaaE@icn: geifetsrabs: down -

[Question ID = 1485][Question Description = $2_qSNz_PG_SANS_Q35]
1. JEfeasteiT:

[Option 1D = 5937]
2. trohdnmicimT: Fermeris O

[Option ID = 5938]
3. TeRAidramfe: aTmETE - TR

[Option ID = 5939]
4. fefteen: g (Bhonke) i

[Option ID = 5940]
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36) wopma FapspEreIeRs B e qrgaia?[Question ID = 1486][Question Description = 52_g5Nz_PG_SANS_Q36]
1. =@ [Option ID = 5941]

2. ammerideH [Option 1D = 5942)

3. g [Option 1D = 5%43)

4, rmfiEs [Option ID = 5944]

37) uarsaciRIgHR HAkpAv gust: gipr: -[ Question ID = 1487][Question Description = $2_qSNz_PG_SANS_Q37]
1. srwrmEs: [Option ID = 5945]

2. memEmsEn: [Option ID = 5946]

3. srErprsas [Option 1D = 5%47)

4, e [Option 1D = 5948]

38) aeNepivr: AegARFIRICIEIGRIRE ALMNEHT W Sa3= Aol @il -

[Question ID = 1488][Question Description = 52_qS5Nz_PG_SANS_Q38]
foraz [Option D = 5949]

. Rmi: [Option 1D = 5950]

. smigr= [Option (D = 5951]

g [Option 10 = 59532]

o kad R

39) mifeclimelonz ez @& Aeegfasaacafieson?[Question ID = 1489][Question Description = 52_q5Nz_PG_SANS_Q39]
. fr=mw [Option ID = 5953]

sr: [Option 1D = 5954]

grar: [Option |1D = 5855]

vizaam: [Option [0 = 5956]

T

40) aelimr=1 oNeaEG! - Bremasza fiftelia -[Question ID = 1490][Question Description = 52_gSNz_PG_SANS_Q40]
1. = [Option ID = 5957]

2. @uwwsEt [Option 1D = 5958]

3. w@wdt [Option ID = 5959]

4. giza [Opticn ID = 5960]

41) IFTUAGIEIIET QeGSR it @i ?
A. afSarsiga

B. Hlemer:
C. IR
D. ftwsitrgers:

[Question ID = 1491][Question Description = 52_qS5Nz_PG_SANS_Q41]
A wd B [Option 1D = 5961]
B wi C [Option ID = 5962]
C wi D [Option ID = 5963]
Awg D [Option D = 5964]

P bl B —

42) AWAGH FIEvEmel @ F:?
A, Ta¥ - gremE

B. usidion - gremmg

C. olFarIe - Ieve

D. =9I gremieg

[Question ID = 1492][Question Description = 52_qSNz_PG_S5ANS_Q42]
1. Awd B [Option ID = 5965]
2. Bwd C [Option ID = 5966]
3. Bwg D [Option ID = 5967]
4. C v D [Option ID = 5968]

43) wHAGET 9w T ?
A. wigpe - Alden

B. encenersitea - wfden
C. witrsa - oo - Afdar
D. Sifdrsfter - wfdar

[Question ID = 1493][Question Description = 52_q5Nz_PG_SANS_Q43]
Awd C [Option 1D = 5969]
B e D [Option 1D = 5970]
B wq C [Option 1D = 5971]
. Cwi D [Option [D = 5972]

oWk b
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44) sreridTEy s ¥ ?
A. wifvcdier - wfdar

B. gilors - #fdan

C. ok - Afgm

D. ureng - =Hizen

[Question ID = 1494][Question Description = 52_qS5Nz_PG_SANS_Q44]
1. Awg C [Option ID = 5973]
2. Awd D [Option ID = 5974]
3. Bwa D [Option ID = 5975]
4, C e D [Option ID = 5976]

45) 'sreei mer: gitrerfeoa A iU
el 33 39 A T A F WALl IA: | 3 Hoe),
‘sradler - eyl - ucal: aell ®i?

A, Rrpfer:

B. gefir:

C. origa

D. arfercargr:

[Question ID = 1495][Question Description = 52_qSNz_PG_SANS_Q45]
1. Awd B [Option ID = 5977]
2. Bwd C [Option ID = 5978]
3. Cwd D [Option ID = 5979]
4. AwiD [Option ID = 5980]

46) aelFvEIIAR SorHTGE Tere, mea fzfael, 6 aq?

A. grome

B. sloicoraranS o

C. TenHETEAIR TN

D. Hismcesy

i forood R

[Question ID = 1496][Question Description = 52_qSNz_PG_5ANS_Q46]
A =g B [Option 1D = 5981]

Awd C [Option ID = 5982]

Bwg C [Option |10 = 5983]
. Cwmi D [Option [D = 5984]

e ld B

47) wizaaihsern R el (siftrst difia) oaconerem ol -

A, TGHIgREEL:

B. fergae:

C. Ivaei3] - ARAERT:

D. s

HAZfex frped Riop -

[Question ID = 1497][Question Description = $2_qSNz_PG_SANS_Q47]
1. Awd C [Option ID = 5985]

2. A B [Option ID = 5986]

3. B D [Option ID = 5987]
4. CwiD [Option ID = 5988]

48) ISTPMFTROBICAIAIT @I FT JEOI acia TS

A. ATENEOL:

B. megfrasr:

€. sraenor:

D. aropniig:

[Question ID = 1498][Question Description = 52_q5Nz_PG_SANS_Q48]

prepp
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At B [Option ID = 5989]
Awd C [Option D = 5990]
B et D [Option ID = 5991]
C wa D [Option ID = 5992]

oW

49) aenfariiaayg gradi Rrgloasaor digeeler Fdifegnd -

A, orglorcaamarc:

B. geftearargeue:

C. msrgehiora:

D. afrrae:

[Question ID = 1499][Question Description = 52_q5Nz_PG_SANS_Q49]
1. Awg C [Option D = 5993]

2. Bea D [Option D = 5994]

3, Bwd C [Option D = 5995]
4. C D [Option D = 5996]

50) dcreanary saiiereeaodlyy & w9 ¥

A. wrRIEH

B. srrgse

C. avss

D. drms9

[Question ID = 1500][Question Description = 52_q5Nz_PG_5ANS_Q50]
Awi C [Option ID = 5997]

B i C [Option D = 5998]

Awg D [Option 1D = 5999]
B =g D [Option 1D = 6000]

B R L ]

51) arenskredy smaksemeRR Akl Fa@: -
A, a

B. g
C.s

D. 7

T forped Rigge -

[Question ID = 1501][Question Description = 52_qSNz_PG_SANS_Q51]
1. Awg D [Option ID = 6001]

2. Bwa D [Option ID = 6002]

3. Cwd D [Option ID = 6003]
4. AwiC [Option ID = 6004]

52) Moy SAGRL: AFdeLn !
A. uasEifen: AEmICITwE

B. witrers:

€. sieridkn:

D. omeranit

e frood R -

[Question ID = 1502][Question Description = 52_qSNz_PG_5ANS_Q52]
A C [Option D = 6005]

B wd C [Option 1D = 6006]

. C wi D [Option ID = 6007]
B v D [Option 1D = 6008]

e it BRI

53) aisiEeay wRIZA: swaseisia ?
A. o

B. sifder:

C. wHayfasa: Fer:

D. smadsivir:

prepp
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T forped Rigge -
[Question ID = 1503][Question Description = 52_qSNz_PG_SANS_Q53]
1. AedB

[Option ID = 600%]
2. Awi(

[Option ID = 6010]
3. BwC

[Option ID = 6011]
4, AwaD

[Option ID = 6012]

54) aIEOERIGEAE ecgaiaud @ Dol 3k ¥ ?
A, srcaigadisrmg

B. amonfe foierei g

C. gt grdisaumria

D. wasdia AcmetE fiosl gireTure I

Fgfida Brered Rige -
[Question ID = 1504][Question Description = 52_q5Nz_PG_SANS_Q54]
1. AwiB

[Option ID = 6013]
2. BwC

[Option ID = 6014]
3 BueaD

[Option ID = 6015]
4. CwdD

[Option ID = 6016]

55) HAEpRIRIIR SISNSRM: AFaedsiFa?l

A. g gree:

B. =quil o =1:

C. walvzor

D. Rk adfen

[Question ID = 1505][Question Description = §2_qSNz_PG_SANS_Q55]
1. Awd C [Option ID = 6017]

2. BwiD [Option ID = 6018]

3. AwiB [Option D = 6019]
4. AwiD [Option ID = 6020]

56) uag drbgd Aol sayld ek srida

A, Rrgirdofiery

B. sazemmlyg

C. Fcomicmd

D, srcrwiiaTms

[Question ID = 1506][Question Description = $2_qSNz_PG_SANS_Q56]
1. Awg D

[Option ID = 6021]
2. AwiB

[Option ID = 6022]
3. BwdC

[Option ID = 6023]
4, AwicC

[Option ID = 6024]

57) wdi wreaensggoiaE sl Fa: -
A. arceiife:

prepp
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B. smas:

C. fidisg;

D. miftgra:

HHfTrd forped Rige -

[Question ID = 1507][Question Description = 52_qSNz_PG_S5ANS_Q57]
1. Awd B [Option ID = 6025]

2. Bwd C [Option ID = 6026]

3. BwiD [Option ID = 6027]
4. AwiC [Option ID = 6028]

58) vwa serplawldicryeiiad A T

A, Fgdeny

B. dmgma

C. stiiriel 9iicgoacia

D. maE Fad

HZPfex frped Riope -

[Question ID = 1508][Question Description = §2_qSNz_PG_SANS_Q58]
1. Awd B [Option ID = 6029]

2. B D [Option ID = 6030]

3. Awd D [Option ID = 6031]
4. Bwd C [Option ID = 6032]

59) TRl acioIRIl: JUMAGT - JUNT s

A. FamH
B. Rmrasn

C. segan

D. fadaifs:

Fgfida Brred Rigie -

[Question ID = 1509][Question Description = 52_q5Nz_PG_SANS_Q59]
1. AeaC

[Option ID = 6033]
2. AwiB

[Option ID = 6034]
3, AwaD

[Option ID = 6035]
4, BwC

[Option ID = 6036]

60) alde] *OKD KITR - FocAl: Refeler ada
Rrn: osumairasa urell, geire gitd aeaggen aidaa
H afbifergsil fafem: aarrl gitifted Sadac goaz:

A, sam

B. gyt

C. anfeérsht

D. dorremy

HAZfex frped Riop -

[Question ID = 1510][Question Description = $2_qSNz_PG_SANS_Q60]
1. Awg C [Option ID = 6037]

2. Bud D [Option ID = 6038]

3. Cwd D [Option |D = 6039]
4. Avwd B [Option ID = 6040]

61) sreraalg @ 5 Safams gl &

prepp
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D. gemesgaomy

agfiida Brrsed Rige -

[Question ID = 1511][Question Description = 52_qS5Nz_PG_SANS_Q61]
1. Awd B [Option 1D = 6041]

2. Bwa D [Option ID = 6042]

3, Bud C [Option ID = 6043]
4, Awd D [Option ID = 6044]

62) Roikpetmpo: @ Riaeit abidat sa:
A, arolicrafor®l - tduer

B. liarsdaumg

C. feiiavor geradforer

D. zmfe wen

gt frped Riope -

[Question ID = 1512][Question Description = $2_qSNz_PG_SANS_Q62]
Atwd B [Option 1D = 6045]

B wg C [Option D = 6046]

B wd D [Option ID = 6047]
C wd D [Option [D = 6048]

a2

63) ASATARTHY: RITEIALARIA Fazaot ¥ar:
A. sufsiférgmrmeg

B. Iqigragzmsaveg

C. HEaAg®mvE

D. TorrptRigmIuH

T forped Rigge -

[Question ID = 1513][Question Description = 52_qSNz_PG_SANS_Q63]
1. Awd B [Option ID = 6049]

2. Bwg C [Option 1D = 6050]

3. Awd C [Option ID = 6051]
4. C wgiD [Option ID = 6052]

64) wiieciiran ealua9LgTel Ao T

A, wlrueiRg

B. sfecienglorerienalzy

C. DUcptionyg

D. grerRIedldarzzeny

HAZfex frped Riop -

[Question ID = 1514][Question Description = $2_qSNz_PG_SANS_Q64]
Awd B [Option ID = 6053]

B wd C [Option |D = 6054]

Awd C [Option ID = 6055]
Awd D [Option D = 6056]

PR e e

653) wilkcliaan geasiz a5 7 cigol -
A. ForDE:

B. smmaenuieT:

C. =it

D. sraiZasaasi:

e firood Rigpe -

[Question ID = 1515][Question Description = 52_qSNz_PG_S5ANS_Q65]
. Awd B [Option ID = 6057]

. Bwd C [Option D = 6058]

1
2

3. CwiD [Option ID = 6059]
4. AwiD [Option ID = 6060]

66) ol He I HFGLL 7

Ffren | It 11

A, SKode |I. anfée:
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B. argpdc: I sifyporer:
C. s I, aifser:
D. arerias: Iv. axg

[Question ID = 1516][Question Description = $2_qSNz_PG_SANS_Q66]
1. A-I¥,B-ll, C- I, D- 1 [Option ID = 6061]
2. A-ll,B-1V,C-1,D- 1l [Option ID = 6062]
3. A-1l,B-1,C- I, D- 1V [Option ID = 6063]
4. A-1,B-1l,C-1V, D -1l [Option ID = 6064]

67) ‘s et Fewont aven Riftradl qamr afSruend 36 Aewidl suerarell st ATITHeIe AcrId -

mifere | rferor

A, 3@ I, $adt

B. It Il. Fz=n

C. Fiommwi . sl ara
D. e IV, grafrht

[Question ID = 1517][Question Description = 52_qS5Nz_PG_SANS_Q67]
1. A-ILB-IV,C-1,D-10

[Option ID = 6065]
2. A-IV,B-1l,C-1l,D-I

[Option ID = 6066]
3A-NLB-LC-I,D-1

[Option ID = 6067]
4. A-1,B-1,C-1I,D-IV

[Option ID = 6068]

68) We HAs BT WFIGLL

AT | isead]

A, MTSTHTG: |. smariITws:

B. Riftewanizears I, Siercolers
C.carafigreaarniacit Il. sigznideas

D. fofdomrcaarc: 1V, fareagenes<reia:
Fgfer forood R -

[Question ID = 1518][Question Description = 52_qSNz_PG_5ANS_Q68]
1. A-1l, B-1ll, C- IV, D- | [Option ID = 6069]
2. A-1,B-1,C-1v, D- Il [Option ID = 6070]
3. A-NILB-1,C- 1, D- IV [Option ID = 6071]
4, A-I¥,B-1I, C-1,D- Il [Option ID = 6072]

69) T Dol AUE DI HIAGLE:

crferasT - | drterast - 1
A. FAFRDOUD |. Ratg:
B. craen 11, For:

C. amcen . afiey;:
D. arIgeien V. afte:
Fgfrd forped Rigpa -

[Question ID = 1519][Question Description = 52_qSNz_PG_SANS_Q69]
1. A-1l,B- IV, C-1, D- Il [Option ID = 6073]
2. A-1,B-1ll,C-1I, D- IV [Option ID = 6074]
3. A-1l,B-1,C-1ll, D- IV [Option ID = 6075]
4, A-N,B-1U,C-1, D-IV [Option ID = 6076]

70) e A B3 Hedon:?

erferenT - | eferent - I

A, FIRpeI HIGI |l. Pesee Rrllsrram

B. 5 s 1. srfesse weeriioneHs
C. fereaedt smman lll. sriencaT

D. wserch st IV. Povse sieioncas

[Question ID = 1520][Question Description = $2_qSNz_PG_SANS_Q70]
1. A-1,B-1I,C-1V, D-lll [Option ID = 6077]
2. A-Ill,B-1I,C- IV, D-I[Option ID = 6078]

| 3. A-IV,B-1,C-1ll,D - Il [Option ID = 6079]
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| 4. A-1l,B- IV, C-IIl, D -1 [Option ID = 6080]

1) we 78 w3 Arges: ?

eI - | et -

A, TEIRIE eoTCHdd 1. arey aft 3g=r

B. dlat Il, sy AT 31
C. wdosaon: wfer I s sresEgel Fgorft
D. @74 o AIdo Hicieavi IV, T wat geur
agfA Brered Rigge -

[Question ID = 1521][Question Description = 52_qS5Nz_PG_SANS_Q71]
1. A-1,B-1IIl, C- IV, D- Il [Option ID = 6081]
2. A-IL,B -1V, C-1Il, D-1[Option ID = 6082)
3, A-IV,B-1, C-1ll, D- 1l [Option ID = 6083)
4, A-NI,B-1,C-Iv,D- Il [Option ID = 6084)

72) wel #Ag DI AL 7

st - | aricrest -
A, e |. Feewitasy
B. srsairRT: I, Fgrasee
C. Rrenzr: Il. folisise
D. ggm: IV, srcrasg,
HdRA feood Rigge -

[Question ID = 1522][Question Description = 52_qS5Nz_PG_SANS_Q72]
1. A-NI,B-1,C-1,D- IV [Option ID = 6085]
2. A-IV,B- I, C-1, D- I [Option ID = 6086]
3. A-1L,B-1I,C-1I, D- IV [Option ID = 6087]
4. A-I,B-1I,C-IV,D-I[Option ID = 6088)

73) oo He ¥ TFGL: 7

wrferar -| eferas - 11

A, smf |. Fd: wIoaacai= ugsafa

B. & 1], 3[5ULorY oA YHUIUITARSCINCIYIcTalSTHANC Tollold]

C. wiiterz: |, Js3 Relia of Rz

D. awmnrE: |IV. apgtqamate) ufiertan geaiaropran 2 forareaaiion

T forped Rige -

[Question ID = 1523][Question Description = 52_qSNz_PG_SANS_Q73]
1. A-ll,B-1,C-1I,D- IV [Option ID = 6089]

2. A-IV,B-1ll, C-1,D- Il [Option ID = 6090]

3. A-NLB-1IV,C-1, D -1l [Option ID = 6091]

4, A-1,B-1l, C-1¥, D- Il [Option ID = 6092]

74) oo Hg ©FE TFGL: 7

eTferesT - | etrferest - I

A. dia |. sf¥agarom

B. oo |II. TG0

C. g 1. smaso3agzon
D. seor |IV. FIBSYATH,

[Question ID = 1524][Question Description = 52_qSNz_PG_SANS_Q74]
1, A-lIl, B- 1V, C- I, D- I [Option ID = 6093]
2. A-IV,B-1l,C-1,D- Il [Option ID = 6094]
3. A-1l,B-1,C- IV, D- Il [Option ID = 6095]
4. A-1,B-1ll, C-1l, D- IV [Option ID = 6096]

75) ool HE ©IA IFFAoLL

miferest - | et -

A. mafes: |, et givisfior: gsmelicrrs:
B. oo Il. efdrsrest gfrefion: genitarys:
C. speufi: Ill. ggeagerali: geneliaym:
D. dcow: V. uenis: gprosesng:

Tl famed Rigge -

[Question ID = 1525][Question Description = $2_qSNz_PG_SANS_Q75]
1, A-NL,B-1,C-N,D-IV[Option ID = 6097)
| 2. A-Il,B-1V,C-1ll,D- | [Option ID = 6098]
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3. A-IV,B-1ll, C-1,D- 1 [Option ID = 6099]
4. A-1,B-1,C-I¥,D-I[Option ID = 6100]

76) woasf3arn sIResIEe] ST AeRT 7
A. gabier

B. wsrereiren

C. sioresalts

D. serearcrkh:

E. Jreon:

e forood Rigpe -

[Question ID = 1526][Question Description = 52_qS5Nz_PG_SANS_Q76]
. A, C, D, B, E [Option ID = 6101]

. B, A, E, D [Option ID = 6102]

C,B, A E
B, E, A, C, D [Option ID = 6103]
D, A, B, E

1
i
3.
4, D, A, » C [Option D = 6104]

77) i - ARaEr HISKPRB] WICRH ISR !
A, szt

B. g
C. xfiza:
D. roT:
E. Sifdrs: a1z - weabs - fgy;:
HAZfex frped Riop -
[Question ID = 1527][Question Description = $2_qSNz_PG_SANS_Q77]
. A, C, D, B, E [Option ID = 6105]
, A, E, B, D [Option ID = 6106]

1
2. C, A

3. D, C, B, A, E [Option ID = 6107]
4. E,B, D, C, A[Option ID = 6108]

78) waPNeea: asaafsaaraionad ap: auSHIRIFOTTIRIN

A. FIRITHATRE:

B. Rigdrcaigrauria:

C. dgrpadAda JAHAR:

D. saar:

E. Firp wwar:

[Question ID = 1528][Question Description = 52_qSNz_PG_SANS_Q78]

1. A, C, B, E, D [Option ID = §109]
2. E, C, D, A, B [Option ID = 6110]
3. C, A, B, D, E [Option ID = 6111]
4. E,C, A, B, D [Option ID = 6112]

79) wizamaion ol Ao nmasien -

A. witer:

B. $eavgyoor:

C. amgfs:

D. usaidrs:

i frood R -

[Question ID = 1529][Question Description = 52_qS5Nz_PG_SANS_Q79]
. A, B, D, C [Option ID = 6113]

, B, D [Option ID = 6114]

, D, B [Option ID = 6115)
B, D [Option ID = 6116)

C,A
A, C
A, C

1

1
2
3.
4 '
80) areisRREAe] GRIRGIVI6] BICREAYT YGoik -

A. PrrIReE:

B. sisionE:
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C. deae:

D. arfifar:

E. sjsis

e frood Rigpe -

[Question ID = 1530][Question Description = 52_qS5Nz_PG_SANS_QB80]
1. D,A,E,B, C

[Option ID = 6117]
2. O,E,B,C,A

[Option ID = 6118]
3. D,A, B, CE

[Option ID = 6119]
4. D,E C, B, A

[Option ID = 6120]

81) arysuaAras sergnmilaicl faufzeader geefan -
A. emonet:

B. smgsa:

C. geqre:

D. sissry

E. guers

Fgfida Brred Rige -

[Question ID = 1531][Question Description = 52_q5Nz_PG_SANS_Q81]
1. C, A, B, D, E [Option ID = 6121]

2. A, D, C, B, E [Option ID = 6122]

3. C, A, E, D, B [Option ID = 6123]

4. A, D, B, E, C [Option ID = 6124]

1 H 1

82) ggmi¥l FeYREIH Gk FeIvIgRHN? Rig -
A. Fider - goafa:

B. sfsiforaomy

C. =l - orarumg

D. adias gar:

E. sogz Rema

e frood R -

[Question ID = 1532][Question Description = 52_qSNz_PG_5ANS_Q82]
1. A, B, C, D, E [Option ID = 6125]

2. A, C, B, D, E [Option ID = 6126]

3. B, C, D, E, A [Option ID = 6127]

4. C, D, E, A, B[Option ID = 6128]

I L

T 1 r

83) wdyriica TR YR oo iiigd: Rogd -

A, fepararsieieng

B. o

C. Siaefierafyasy

D. ooy

E. racerraacan

Fgfida Brred Rige -

[Question ID = 1533][Question Description = 52_qS5Nz_PG_SANS_Q83]
. A, B, C, E, D [Option ID = 6129]

. A, E [Option D = 6130]

. A, C[Option D = 6131]
D, E [Qption ID = $132]

1

2, B,C,D
A.-D-E B
4. A, B, C

1 1 H

84) arenfeilaron IRMR= Rrasgems FRe: @HlsRa
A. AWt

B. curdel asmession
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C. Biffrer -~ gzenery

D. waseH

E.s@izRT trepsiser:

e frood Rigpe -

[Question ID = 1534][Question Description = 52_qS5Nz_PG_SANS_Q84]
. A, B, D, C, E [Option ID = 6133]

: , E [Option ID = 6134]

A, B, C,D
B, D, A, C, E [Option ID = 6135]
B, C, D, A, E [Option ID = 6136]

1 L

1
2
i
4 a

* 1

85) o FRITRIEOI Amreior Afed -

A. ot

B. a=r

C. @t

D. Re=n

E. foras

[Question ID = 1535][Question Description = 52_qSNz_PG_SANS_Q85]

1. D, A, B, E, C [Option ID = §137]
2. A, D, E, B, C [Option ID = 4138]
3. C, D, B, A, E [Option ID = §139]
4. E, A, B, C, D [Option ID = 6140]

86) wergee aEifeiRaas - af uw Alirpeeid (A), Uz ad3a wrue (R) skt -

afirsee (A) ;' Ot & varl vd d<, AU U6, olod Fasiais, 39 yfafesaia giafaest .’

oo (R) : ' am: w1 suenfa - aa: ca: @ sfa gfieer, den waizenta aermeny |
IWRxp - i - SR Agknd fawmed ek -
[Question ID = 1536][Question Description = $2_qSNz_PG_SANS_Q86]
1. (A) v (R} smafd Irewy, (R) i 3R sromfEa (A) seer
[Option ID = 6141]
2. [A) == (R) Famaf s,

[Option ID = 6142]
3. (A) 3=, (R} a=rew

[Option ID = 6143]
4. (A) s, (R) 3=

[Option ID = 6144]

87) arq waeiza add - ag (A) srafirrencn, (R) st o asa wro

siffroserera, (A) © var Roir g & swEifvEe: gaenrrrclls sion  fvsg goad Beloda geraaraad, THE acaadar 3o Jeaersd
o (R) | weswnretcal o seeive: Saramasiorar A5t o T, sruscBrracar wriicsa

Jadw (A) seafiisaa (R) sfer anvei afden iR Roed Rge
[Question ID = 1537][Question Description = 52_q5Nz_PG_SANS_Q87]
1. (A) J== men (R) araers

[Option ID = 6145]
2. (A) arae#R Aen (R) 3wy

[Option ID = 6146]
3. (A) mem (R) 38ml wwem

[Option ID = 6147]
4. (A) aen (R) 39w st

[Option ID = £148]

88) ar wecIsA (A) sraldercm (R) skt a wrvmg

Afdresererd (A) @ widTeler AcckarRn 6t Tqeeridy duilueer: fder

wrzvig (R) : gforasaarnet: - aqactrmwet: - swggeis

agfird fawod Riga ¢

[Question ID = 1538][Question Description = 52_qSNz_PG_S5ANS_Q88]
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. (A) sy - af¥eseem ozr @ (R) 2k sooe] 38 a0 [Option 1D = 6149]
. (A) =iy afdresees e o (R) sk o 3w asee [Option 1D = 6150]
. [A) s sifirgseme] Iemr (R) 36t &now e [Option 1D = 6151]

. (A) =y sfirserem s (R) iy oeom s [Option D = 6152]

oW

89) wercigE ahfeaa - g vaa sfirsucta (A) suza az= oo (R) shy -
sifirpercaa (A) : Rl s Yt e afia 912, o g w0 aeilsial 9iRs wecasion o

waler 12 yorsiene] 91o: wa gikr ag e,

v (R) opraf ez afie goe:

Il Jidrpere - orvEANFa JHRA keood ”iga -

[Question ID = 1539][Question Description = 52_qS5Nz_PG_SANS_Q89]
. (A) e (R) 3emahl sereer [Option 1D = 6153]

. (A) 7em (R) el memg [Option 1D = 6154]

1
2
3. (A) mem (R) Semafl em s (A) seas (R) s=pier @i anfda [Option 1D = 6155]
4. (A) sfr =i @ (R) 35 s [Option ID = 6156

90) wemrg atlifcilians - aq oo Alirpeee (A) s a1 e (R) sk
atfirpeer (A) : anldad afeiac of Iauniean

o (R)  gaafsee srafdsd: ol siafer
o - sfirses - wrvwidra anlid Rroed Riga

[Question ID = 1540][Question Description = 52_q5Nz_PG_SANS_Q90]
1. (A) zrem (R) 3smmafi ameem [Option 1D = 6157)

2. (A) rrem (R) semrafts swemy, (R) sF aftwt wrvmti (A) srasr [Option 1D = 6158]

3. (A) men (R) waly see eseeg (R) 31 3l =i anfdr (A) seoe= [Option 1D = 6159]

4. (A) 3=, (R} sz [Option ID = 6160]

Topic:- Sanskrit_Set2_B

1) senfaRad ufyede ufdrn gamiE: S9!

w3 doryerg [Oren B yera auifon aeneey swmevi Birprasasiegee e Iasml: SOSToll A1 3F1 91K ot dUIIRvl £96  30: '916GT
glor: Fazal avidl o frear qRIeot o aeelae o1 aras Jeee Ralia weecon]: Fasalsuait | scagrrll: Jucietiel Bieme)sensi s
orenfRrast e, Ay 40 s grRr: gadar v snftorafdisn FdgeEt s gqwiidrer  mitrelir RigiR e, g AR
USSAHUARIA IFFADUG] auiicarzvliSign’ 3k oo Jhibnm uriteliibismn agus! gerumlsil aRid  digaem Ui doggilidiet:
aAToGI9Tens ez gliftanr

TIToGIIISIRIT: QU defel -

[Question ID = 1541][Question Description = 52_q5Nz_PG_SANS_Q91]
1. dh:

[Option ID = 6161]
2. yIOTIEr SRDIr

[Option ID = 6162]
3, digiemrar

[Option ID = 6163]
4., ForErmIn

[Option ID = 6164]

2) aeiferlad ufres< afdrar Yoo S

w3 dcrgony foren 12 gy anforl aemdes Jearul BHgqumaesinicson el Faelol ool AT 3fe] old NI dUIlealzoY Z9ao¢T are: '9Ieal
glor: Fazal avial o frear ot of aeadae o1 apas) aseEne Relia adlogur]: FealstRien | seamgearl:  Jucetnst Bremeysensi =
oraif?rent adda, ag 40 speerg gren: yeeitsrr va  anfrerafdien sdgeni adiza: yoidnn uieher Bigmn «@ieras; ggras afa
WTFAAACHAN  FEHCAIST aoiicaveidien’ sfer ansan geoifdrm  arfteiifdramer agae! gecaetiy a4 Surerora asenon:
aloglvtensiy e givitann

‘auifezmeuiSign’ seaR=an: quien dade -[ Question ID = 1542][Question Description = 52_q5Nz_PG_SANS_Q92]
1, anfdef: [Option ID = 6165)

2. gog: [Option ID = 6166]

3. wiofs [Option ID = 6167

4, wooeiwit [Option ID = 6168]

3) srenferf3ad ul¥ese ufdrar Quoreaga: ea .

w3 Acrgeny foren 12 gerany anfell Asmaes) Jearul BHgqumaendiicsoH el Faclel *deloll AT 3e] old NI QUIlealzoY 29ac¢T aIe: "9Ieal
Slon: raxal qofa wr freean gegeot o1 andms A aras) asaet Bafia adegerng: ravasaend ' seagenal:  Iucreena idrgneysemai swn
oraiitreet avdd, Oy 40 sfeersg YyrR: g va  anfterafdisn adgen aEiza: goid uiiteiie BisiRn ohoram; Jgras okl
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WMTFAAACHAN  JEHTAIST aoiicavenidien’ sfer snsan groifdr  arfteiifdramr agan! gecaesfy o b9 Sureiora asgenien:
doglvtensiy e givitsnn

efer Rigisgeem: geotidram: afea -[Question ID = 1543][Question Description = 52_qgSNz_PG_SANS_Q93]

1, wrf¥ert [Option 1D = 6169)
2. grmfiner: [Option (D = 6170]
3. g [Option ID = 6171]
4. za [Option ID = 6172)

4) arenferfiaed uf¥cssc atdrar GeatTolaR? ¢4

u¢e] acrgony [oren 13 yeraa auiioi rendeny Jeanvl BiHrasamdnicE Aol FIsiel: *dsioll I 3] oid GIdl Auilzelol 29206 i '9IeG]
Slor: Faxa qofa o freanr gepeot or andms A aras) gt Bafia adegerg: ravmsazend ' seamgnal:  3ucreena idrgmeysemai swn
oraiitret addd, Oy 40 sfeersyg YR: gt va  anfierafdisn adgen aEiza: goidn el Bisirn ooram; Jgras afl
MOFRIAICHN  FARHTUIcH] aoicarveidien’ sfer amson grofdra otz agae gseacniy mead  dig Surwsorsa aogeniien:

FATAISULIRT fopgorEsuaig aedd -

[Question ID = 1544][Question Description = $2_qSNz_PG_SANS_Q94]
1. amas: [Option D = $173)

2. sgae: [Option ID = 6174]

3. wemeR [Option 1D = 6175]

4. zogug [Option 1D = 6176]

5) aenfeiRiad ufrss uldrar oraas S

Wy dorgery [ormi 2 gees aunfal Aendeny Foanwi Rifdgumasamdncson Aol Iasiol: “Tsloll Al 3] ol oIl QUITIUL E9AI A '9IGG1
Blor: Faxa ol @ freen gepeot or andms A amas) et Bafia adegerg: Favasaend ' seagenal:  Iucreena idrgmeysema swan
oot add, ayg 40 smard grR: geoitdn va  anftorafden swdgem aeiza: gt uritteiie 13RI *oReram; e afd
UISEIHUERIN PR ADUIST] "auifcarzoidisn’ i amaon yeoifdr aifidrsiifsignen agure! gacusisi ensra  dig daraszors degenidier:

areeidensi el givitan

oA PDgrEm aeuE! gecuwd ker -[Question ID = 1545][Question Description = 52_qSNz_PG_SANS_Q95]

1. wgiwsmErn [Option 1D = 6177]

2. umiaiEmr: [Option [D = 6178]
3. onfoerr fersrem: [Option 1D = 6179]
4., wifcamoridemEn: [Option 1D = 6180]

Topic:- Sanskrit_SetZ_C

1) senferladd st - wvs uisean Yeelieil weiiliors 3az Rigd -

a1 | aegndls | fafitmaiéacsa el adomgza a srcaaetcerriRa Daetd herld ta anieiEErelcdiboo erdys Y TURIAR BIgel (il
Higague srabenalaerm sreon agller: diaaeen T g anEraggceiitenty wigsrgaads gy srafsasraamit Teetd vl gai
efic: smmeel wa smfod sSHIfe IUSCYIOIE INFERIA 2 eIl veikawvniia FHilerprenn s Rvfea Fxiel IueEpm: FFail
ufRkmiefa onfergaifa slony spraaaafacgiia o Tgelfal IerscanagsrcidEa of ag Ao il ofbonHIuSel gfrar IerpaIsferst efsfa:

IUSOIL: w3 Axi e giereifea ?[Question ID = 1546][Question Description = $2_qSNz_PG_SANS_Q96]
glciarars At [Option 1D = 6181]

. Bremmifa [Option 1D = 6182]

. FETEE Hany [Option 1D = 6183]

. erpHREEta [Option D = 6184]

e it R

2) senfifBad srer - @os uldear gearai weithera wad Rroga -

ar ! gegrdls | Rftadftasr seha wdomge  snrcawradsceaaiRa daey frasta oa sprspemrcsnaiatermgslagHIasrRafteEe ot
HoIgias AMDPIHATIYE G5l tigdiias: dideiRe 9 YRI: Y geicygicolioriontt wgwruak ghy: seifSsmatmaamit seer skt goi
zfte: srarzen d safed ssTeicl JUSeNely wuskiAd B #afy swleemwomfia seformmnas fufea Faler sudgrpm: mesacdl

uf iR suftrseil soe sPraaugiEa o FPoIll ICRICAASIIINA of 95 A Fiel RbeAIIGY ofrdl IGKpARSIR et

etcgdl: Feradiufsia sel S TRvld o anfdgsia]Question 1D = 1547][Question Description = 52_q5Nz_PG_SANS_Q97]

1. %=k [Option 1D = 6185]
2. @ [Option ID = 6186]
3. o [Option ID = 6187]
4

. Tardggen [Option 1D = 6188]

3) arifciRad sEr - oS ulsoar yeamenl Hdiklon] 32 Rgd -
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ar | gegrdls | RitadRacrya adhta wdenegera & arcasdscrraiRa  Sarery faraea oo spuseamaneiacdemagdagarasrmicestss o
Hiaergeras, ANOIHATIIRE SI5UI cigdiiae: AldelRs! 9 URI: Jgeiaygicielforicaniu srgwmuai ghs: aqissaemaaait e safe el
efte: smreon oo smfoa sirstontor JaoneIe setaad B et reRowenir ysiferprenraen frofea gxior Fadorem: F¥saedl

uf iR sufcrseil soE sPraaugia o FPoIll ICRICIAASIRINA of 95 Al Fiel PG 9frdl IGKpARSIR efim:

Joit gl war wwgeagoenfa ?[Question ID = 1548][Question Description = 52_q5Nz_PG_SANS_Q98]
. ggAraEEEH [Option 1D = 6189)

. anefee [Qption D = 6190]

. Tt [Option (D = 6191]

. =taemzea [Option 1D = 6192]

PR e

4) arenfeiliad st - @vd ufdean Yeeeil el aaz R -

a1 | aegndls | fafeaaiéaemsa el adomgza a srcuaaetceEila Daesd herld va anieEREreicibo eldys Y TUGRIA BIgal (il
Higagues srabenalaerm sreon agller:  diaeen T gra: anErerggeeiitonty wiosrgaande gty srafsasraait Teetd vl gai
elic: smmEen oa smfod sISHIIe IUSCYIOIE INFERHA B il veikawvniia FHiirpenr s Rgfen Fxiel FueEpm: FFail
ufRplaiielRa snferzaifa seny spranafagiia o 7gefa seraraanzeciia o ag #ead 2 ybenHIuSsl ofrar IsraaIsiaas afsfa:

oY 3Mcen WA goiad [Question ID = 1549][Question Description = $2_qSNz_PG_SANS_Q99]

. groomar [Option 1D = 6193]
. TenisE [Option 1D = 6194]

1
2
3. =ogrdism [Option 1D = £195]
4, wewR [Option 1D = 6196)

D) seifeiRad swr - @mos afdear geeaeil Ao Fa? Riegd -

ara | gegrdls | RitadRasrra adhta wdenrgra & arcaacdscrraia  Saery freia oo spuseamcsmaiaocdeagdagarasrmiceTss aai
Hiaelgias] AMDPIEIIYE G5l tgdilae: dideiRe 9 YRI: v ey gicolionionit wrgwmuak ghy: sefSsmatmaamit weer skl goi
zfte: srarzen q safed ssTeniol Judenely waskiAd B Aty seleemwonfia seformmnra faufea Fale suderm: mrsacdl

uf iR sufcseil son sPraaatgia o FPoIll ICRICIAASIKINA of 95 Aol Fitl YRPeIAIIGYL 9fFdl IGKpARSIR efim:

f3ae] srEraus o suteerfa ?

[Question ID = 1550][Question Description = 52_qSNz_PG_SANS_Q100]
1. azds: [Option ID = 6197]

2. gmanr [Option ID = 6198]

3. wwrarr [Option 1D = §199]

4. g [Option 1D = 6200]

Topic:- GP42_D4_SH2Z_SET2_A

1) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (S5E) employed in five different Software companies (A-E) during the year 2020.
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

Software Engineers(5E})
ssitiiara Assistant | Junior Senior
company| (ASE) (JSE) (55E)

A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

oifl fou wvil @1 ulge iz yrstl @& F0= s @

oita &t o aroft d ad 2020 & diua v Rl siftcdsr oabril (A-E) # forps SHUfrE! aur afyse sifrcdsr seiifbrri G sizsn @1 fRawn
feem o1 2 ATl & RRu a0 siiesst & anans uz gl & Iz e |

HAfweadarz seilforri &t ousi-ar HAzea
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Hirca s shhlere
pifredar Wl [serKs TiTcAsr SRPRR [ofins divcasr SRIRRR [its dircdsrs SRbrE
(v wad) (Groa g ) (cauad)
A 150 100 150
B 350 100 200
c 200 150 350
D 250 250 450
E 150 250 350

If the number of all the Software Engineers in the Company-A, Company-C and Company-D is increased by 30%, 35%, and
40% respectively, then what will be the overall percentage increase in the number of all Software Engineers in all the five
companies taken together?

afe wash A, aiasht C aer washt D & sl dHivcdare $Sfiferd & sz i waer: 30%, 35% aar 40% &t gy 81, ot o fhorws wsh aral
wuberil 7 Wl T FhtrRl G dwa # oa giy fRoadh el ?

[Question ID = 2826][Question Description = $2_qSNz_PG_GP42_Q01]
1. -18%/-18% [Option ID = 11301]
2. -22%/-22% [Option 1D = 11302]
3. -30%/-30% [Option 1D = 11303]
4, ~35%/~35% [Option 1D = 11304]

2) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (S5E) employed in five different Software companies (A-E) during the year 2020,
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

Software Engineers(SE)
Sottiare Assistant Junior Senior
company| (ASE) (JSE) {SSE)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

A Re aroft o aféye iz gesi @ sazy 8w :

aftar & o1 areoft 3 ad 2020 o5 Sivar aia RAffeer divcdas okl (A-E) & Brpr $sliferrd aur afvss divcdan softfaraal & sdw=n w1 R
e s 2 Aeft 9 2w 51w sties] @ amenz Uz geel & Iaz S

HAwred 3z FeilerEt & ousil-ar J3%ar

Hivedaz stafor
(v s $) (Frea ) (vauaf)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

What is the average number of Junior Software Engineer (JSEs) in all the five Companies?
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130t afa walsrl # ofores v selifrast (31 vw ) & siwa s aar 8 7

[Question ID = 2827][Question Description = $2_qSNz_PG_GP42_Q02]
1. 150/150 [Option D = 11305]
2. 110/110 [Option ID = 11306]
3. 170/170 [Option ID = 11307]
4, 1907190 [Option ID = 11308)

3) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (S5E) employed in five different Software companies (A-E) during the year 2020.
Based on the data in the table, answer the question 1-5;

Company-wise Number of Software Engineers

Software Engineers(SE)
Software Assistant Junior Senior
company {ASE) (JSE) {SSE)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

S Ru vl B Ul die geslt & s A

offax €t o1 azft 3 axd 2020 & Siwe aig [Afice Fvedsr owafort (A-E) 3 forges $Sfiformet aen aftes sfredar Seilfor &Y sz o1 fRazor
fee o & ARl | Ry o/ snws] @ e ur grEl @ Iz SR

HAlred 3T FeiforsE] & ausilt-ar J35Fm

sifredar Tuel werrs Hircdus Rk mhiss divcaur sfifire jafves sitrcders shifre
(v w1 d) (Feas) (T o d)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

If the number of ASEs employed in all the five companies is increased by 20% and the number of SSEs employed in all the
five companies is decreased by 20%, then what percent will the number of ASEs be more than that of SSEs?

afe it oier wakdrd # Brare ¢ va § & dwmn & 20% & giy qen w0l aia waferal 3 v v € O dwen # 20% & @l 8, o v vw b
Fwan @l gowil 3 ¢ A § Bl dwen Reaen yiaer sifine ek ?

[Question ID = 2828][Question Description = 52_qSNz_PG_GP42_Q03]
1. 18 %/18% [Option |D = 11309]
2. 20 %/20% [Option ID = 11310]
3. 10 %/10% [Option ID = 11311]
4. 15 %/15% [Option ID = 11312]

4) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (S5E) employed in five different Software companies (A-E) during the year 2020,
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

| | Software Engineers(SE) |
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A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350
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oifay few wrrevfl @1 ufdu 2z Yrall & Faz e @

offar <t 3 Fmevil 3 o 2020 @& o ui faldeer divcdan weaford (A-E) 3 orgrp seiforiel aen afyes Fivedse sHliornii &1 Hcen @1 faasun
e srer & moll A Ru ore siosi @ anenz o gesl @5 sz St

Hivedars seiforst & wosit-ar Jwn

HAircdus shfere
Pifwedar WUl [serKs TiiTcdsr SRPRR piirs divcir SRIRRR [aivs dircdsr SRbRrE
(v v d) (o ) (cauad)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
3 150 250 350

What is the ratio between the number of ASEs in Company-A and Company-C?

oueit A e wuell C @ v va § ol JEail o siefuid a1 S 7

[Question ID = 2829][Question Description = $2_qSNz_PG_GP42_Q04]
1. 5:6/5:6 [Option ID = 11313]
2. 3:4/3:4 [Option ID = 11314]
3. 5:7/5:7 [Option ID = 11315]
4, 2:3/2:3 [Option ID = 11316]

%) Study the given table carefully and answer the questions that follow

The following table presents the details about the number of Assistant Software Engineers (ASE), Junior Software Engineers
(JSE) and Senior Software Engineers (S5E) employed in five different Software companies (A-E) during the year 2020,
Based on the data in the table, answer the question 1-5:

Company-wise Number of Software Engineers

Software Engineers(SE)
— Assistant Junior Senior
company (ASE) (JSE) {SSE)
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350

afia e wreoft @it affy siiv gesdl @ sy A :
oftar € 51 neoft & ad 2020 &5 Stwer it RAfSesr ditwrcdyz wafsrd (A-E) & Brpor ssiiford aar af¥ss divcdar sifsras &t siwen o1 faver
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foen 51 & moll A Ru ore oSt @ anenz a7 gesl a5 gz S
Hdiwedns sefferid @ wasit-me dwm

(v vad) (A d) (1w )
A 150 100 150
B 350 100 200
C 200 150 350
D 250 250 450
E 150 250 350
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What is the difference between the average number of JSEs and average number of ASEs taking all the five companies

together?

ool S A cad B dunadsmam e er T 6l dina den D Do aar iz 7

[Question ID = 2830][Question Description = $2_qSNz_PG_GP42_Q05]
10-Oct [Option ID = 11317]
. 50/50 [Option ID = 11318]
. 30/30 [Option ID = 11319]
40740 [Option ID = 11320]

B —

Topic:- GP42_D4_SHZ_SET2Z_B
1) What is the full form of MODEM?
HizH o1 g wu 8

[Question ID = 2831][Question Description = $2_q5Nz_PG_GP42_Q06]

1. Modulator- Demodulator/#fsgrcs - Eeisgcres [Option 1D = 11321]

2. Modern Electronic Microwave /iisol soiaciers smemiad [Option D = 11322]

3. Mechanism of Disk Enhancing Memory /diorsar 3w i3 soaiidiier dumd [Option ID = 11323]
4. Motile Data Extranet Multicore fomERe e gazcee [Option 1D = 11324]

2) The first MOOC offered in 2008 by Stephen Downes and George Siemens was

ad 2008 d ¥élwot s e St HldeH of Sl Usen 50 (A Al 3 i) g Ko un, 331 o1 & -----

[Question ID = 2832][Question Description = 52_qSNz_PG_GP42_Q07]

1. Connectivism and Connective knowledge /sritrrmg e Z=ierr sme [Option 1D = 11325]

2. Intreduction to Artificial intelligence/wfm afy (iR s2femia) ot gzzenvan [Option ID = 11326]
3. Models of Teaching/areemoa o gitemer [Option 1D = 11327]

4, Rhizomatic Learning /iy sfdep [Option 1D = 11328]

3) Given below are two statements

Statement I: Entity theorists tend to explain failure in terms of a lack of an ability.
Statement Il: Incremental theorists tend to explain failure in terms of lack of effort.

In light of the above statements, choose the most appropriate answer from the options given below

il €1 e Ru s & ;

ool - | 1 wva Brgiasz sawaar ot et Aeam & o 2 @ wu 3 ufnnfta o &
et - || ; adhme Brgiamr spmeam o A o 6u @iey & =9 # afanfta &z 3
s wuell @ sneles A, ol Re siv Rroseal # 31 w8t sae w1 wa Hifdg ¢
[Question ID = 2833][Question Description = $2_qSNz_PG_GP42_Q08]

Both Statement | and 5tatement |l are correct/m@am | 4z || 3 78 & [Option 1D = 11329]

Both Statement | and 5tatement Il are incorrectf@em | oz || gl sieer & [Option D = 11330]

Statement | is correct but Statement Il is incorrect/@emr | 2t &, Prog wemt || s & [Option ID = 11331]
Statement | is incorrect but Statement [l is correct/wem | srom &, Rveg o || w52t & [Option ID = 11332]

T

4) Some of the largest and the most successful digital libraries are

A, Project Gutenberg
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B. Microsoft Teams
C. ibiblio

D. Internet Archive
E. Sakai LMS

Choose the correct answer from the options given below:

forra & A o waA &5 qun Faiites wwa Bfswea sjenerd 7 E ?

A. GRYae sgcerast

B. az@ive fevn

C. ¥ - faféaan

D. gcwie anpiza

E. 7eord wel oo o

oiter faw a1 faaseal 3 3t 7él one @1 aaa B @

[Question ID = 2834][Question Description = S2_qSNz_PG_GP42_Q09]

1. A, B and C only/dxze A, B 3z C [Option ID = 11333]
2. A, B and E only/daa A, B iz E [Option D = 11334]
3. A, Cand D only/wsae A, C afiz D [Option ID = 11335]
4, B, D and E only/®aa B, D #iz E [Option D = 11336]

5) Match List | with List Il

List | lList 1

Behavioral Model |Develnper

A, Mastery learning | Albert Bandura
B. Direct Instruction |II. Tom Good

C. Simulation |III. Benjamin Bloom
D. Social learning |IV. Carl Smith
Choose the correct answer from the options given below:

I -1 B gt -1l A gAfera B ¢

ageht -| axett -1

(e RIEn Yham) (foratoreat)

A. o il |. srerad gigwn

B. graar fercor I, 2iw 15

C. arefFam . Sosiddrer s
D. senfors altewE IV, ot frarer

a1 o oo Repedl & 3 318l 302 giome :
[Question ID = 2835][Question Description = 52_qSNz_PG_GP42_Q10]

1. A-ll,B-Il,C-IV, D-l[Option ID = 11337]
2. A-ll,B-IV, C-l,D-lll [Option ID = 11338]
3. A-IV,B-l, C-lll, D-Il [Option ID = 11339]
4. A-l,B-lIl, C-Il, D-IV [Option ID = 11340]

6) Which among the following is a secondary source of data?

forofeifiad 3 A wlet 3] o [&diers Ja & ?

[Question ID = 2836][Question Description = $2_q5Nz_PG_GP42_Q11]

Archival data/sfictedh a2 [Option ID = 11341]

Participants' diary/uftsnREeEt &t serdt [Option 1D = 11342]

National Sample Survey Organization data/wda gitrgel wdsmn Feoe @ s [Option 1D = 11343]
Oral narratives/#if3we gar [Option 1D = 11344]

bl D

7) Given below are two statements
Statement I: Random sampling may not be a practical strategy in case of a rare kind of population
Statement |I: Stratified random sample is better as compared to simple random sample if population is too heterogenous

In light of the above statements, choose the most appropriate answer from the options given below

A S wast Rusrg ¥ :
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werot - | 1 anefRow gftroer gob gz @ Ty @ wad A varsfyr Rt af 8 aod 3
werat - || 1 afd wwe) scafios Rawsed 81, & wrea acRes gftcel Bt goon & ey aeRow gfttage 8saz Sia 8
I RITe el @ el 3, ofla fou e Rrpeal 3 A w18 5w ©1 o=@ $ifm ©
[Question ID = 2837][Question Description = 52_qSNz_PG_GP42_Q12]

1. Both Statement | and Statement [l are correct /s | @iz || 3wl 32 2 [Option 1D = 11345]

2. Both 5Statement | and Statement [l are incorrect/oam | 3 || il aimm & [Option (D = 11346]

3. Statement | is correct but Statement Il is incorrect/mwam | 32t 8, fiseg oea |l sima £ [Option 1D = 11347]

4. Statement | is incorrect but Statement |l is correct/@em | siem &, Prog wem || 3@t & [Option ID = 11348]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In experimental research, the effect of independent variable is examined on the dependent variable.

Reason R : Causal relation between two variables can be established only by the experimental method.

In light of the above statements, choose the correct answer from the options given below

ofir 1 e Rw sm | wp aifdroera (Assertion A) @ =u 3 iz gz sa® ©rer (Reason R) S wa # ;
fdrepera (A) : yrIfBrs ontr & Fadq @z @ Yama &l S uzddg oz uz &t et

@11 (R) : 16l @2l @& e @l Fae grIBEE quich g renit Rear o a8

IURITE Bl © AClkD 3, ol Iew famedl 3 31 718l sz &1 el Hifsy |

[Question ID = 2838][Question Description = $2_q5Nz_PG_GP42_Q13]

Both A and R are true and R is the correct explanation of Af(A) diz (R) gt @wa & diw (R), (A) & =t oo & [Option ID = 11349]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) giei wwa & uamg (R), (A) @5 78t =me=m st & [Option ID = 11350]
Ais true but R is false/ (A) = 2, gemy (R) s £ [Option 1D = 11351)

A is false but R is true/(A) spwa 2, meag (R) @ £ [Option 1D = 11352)

e B

9) According to Kerlinger {(1973), good research problem should be
A. Describing the relationship between two or more variables

B. Articulated intelligently

C. Philosophically oriented

D. In the form of a question

E. Amenable to empirical testing

Choose the correct answer from the options given below:

oifeferz (197 3) & ez sl ATl HAFN ©

A. 3 3 o aiftrer oA © Sta @ Ak o sedm San aifde

B. i difyw wa A Fras don aifde

C. ot goleniirgzr son aifde

D. @1 5t gea @1 w13 I ween wifdw

E. 1 smopfies aftger @ g srava aflgeik o anfde

il R s1g Rraseal 9 31 78 309 wr axar Hifsre :

[Question ID = 2839][Question Description = $2_qSNz_PG_GP42_Q14]

1. A, B and E only/dga A, B Jfiz E [Option 1D = 11353]
2. A, D and E only/dsae A, D aiiz E [Option 1D = 11354]
3. B, C and E only/d@aa B, C sz E [Option D = 11355]
4. B, D and E only/@aa B, D 3z E [Option 1D = 11356]

10) Match List | with List [l

List | List Il

A, Positivism ||. Average score

B. Hypothesis |Il. Consistency of the score

C. Reliability  [lll. Tentative answer to the problem
D. Morm I¥Y. Epistemological position

Choose the correct answer from the options given below:

it -1 B 3t -1l 3 AR iR
et -l et -l
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A, Qs 1. ;e grsics
B. grameden Il. giaics &t varzadr
C. Rreawmitna . Fxere=n w1 amEifa 3

D. yRwmma IV, Stonfaisfin ek
oY R a1 famedl A A 2l sme b :

[Question ID = 2840][Question Description = $2_q5Nz_PG_GP42_Q15]

1, A-ll,B-N, C-IV, D-l[Option ID = 11357]
2, A-ll,B-Iv, C-l, D-Il [Option ID = 11358]
3, A-IV,B-lll, C-ll, D -l [Option ID = 11359]
4. A-IV,B-l,C-Ill, D-Il [Option ID = 11360]

11) In communication, connotative words have

Figunr & spnee ecl © Bl 3

[Question ID = 2841][Question Description = $2_q5Nz_PG_GP42_Q16]
1. Literal meaning/snfeges aref [Option 1D = 11361]

2. Cultural meaning/aizgions aref [Option ID = 11362]

3. Common meaning/mmT a2f [Option D = 11363]

4. Clear meaning/>we aef [Option 1D = 11364]

12) In communication, a major barrier to reception of a message is

HAYHUI 3 HGQI HPGvT 3 YIH AR &

[Question ID = 2842][Question Description = $2_qSNz_PG_GP42_Q17]
1. Attitude of listeners/gjiamii <t arf3gf [Option 1D = 11365]

2. Knowledge of listeners/giiomit @1 smmar [Option ID = 11366]

3. Education of listeners/ sjrmsii &t faem [Option ID = 11367]

4, Income of listeners/sirmat <5t amr [Option (D = 11368]

13) A notice about the auction of a car in a newspaper is an example of

oozt Tmamas aq # ezl o &t ool & i & Jaen fearsT seream 2 7

[Question ID = 2843][Question Description = $2_qSNz_PG_GP42_Q18]
Group Communication/amg sitmur [Option (D = 11369]

Downward Communication/ i sigaor [Option ID = 11370]

Interpersonal Communication/ diadafees simr [Option (D = 11371]

Mass Communication/smr Zimas [Option 1D = 11372]

R

14) The emergence of consumers who can control and even create media of their own and of producers who can easily
track consumer responses, is made possible by

U3 SwihI oot Hifzen uz foriaqun 3 aer S aracit Az o formion oft o5z sreea €, aem A3 foraiar Siy susiceradt 61 gk o1 sl 2
o o A 3, wr aRoifa e g dva 8l a3 ?

[Question ID = 2844][Question Description = 52_qSNz_PG_GP42_Q19]

1. Television/adifmmm [Option 1D = 11373]

2. Radio/3R=i [Option 1D = 11374]

3. Internet/scem [Option 1D = 11375]
4, Telephone/odiwi [Option 1D = 11376]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Teachers should strive to avoid discussing complex issues.

Reason R: Classroom communication should facilitate a movement from exploring simple issues to complex issues.

In light of the above statements, choose the correct answer from the options given below

i1 <) wewl ke o & 1w afirsera (Assertion A) @ wu 3 3iiz g1 35 @ror (Reason R) & »a &

afircserer (A) ; Brarst & aifea fawrit uz aaf o1 3t J90 &1 YR @owen aifay

o1 (R} : @ YW @5 ARAA 3 9B # Aol faul &) s oxd gu 9 A siiea faawl DI s B il dgol @ YD oIl Siloll @ty
IUAD weell & e i, iRy Ry famedt # A 7 3z o avrel Hifsw ;

[Question ID = 2845][Question Description = $2_qSNz_PG_GP42_Q20]
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Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) 3=l 3 & 4iiz (R), (A) & =@ som=n £ [Option 1D = 11377]

Both A and R are true but R is MOT the correct explanation of A/(A} Hitz (R) S5l 309 & uweg (R), (A) & dl == =t £ [Option 1D = 11378]
A is true but R is false/ (A} 3rra &, weog (R) amrg & [Option 1D = 11379]

A is false but R is true/(A} s &, weeg (R) srg & [Option 1D = 11380]

oW

16) What comes next in the following sequence?

2Z, 4X, 7V, 11T, ?

foramfeilae gipft d aeren ue o= 3lem ?
2Z, 4X, 7V, 11T, ?
[Question ID = 2846][Question Description = $2_qSNz_PG_GP42_0Q21]

1, 15P/15P [Option ID = 11381]
2. 16R/16R [Option ID = 11382]
3. 1657165 [Option ID = 11383]
4. 15Q/15Q [Option ID = 11384]

17) Given below are two statements
Statement I: T 10000 will become T 13310 at 20% per annum, compounded half-yearly in 1.5 years.

Statement |l: A 800m long train is running at the speed of 78 km/h. If it crosses a tunnel in 1 minute, the length of the
tunnel is 1300m,

In light of the above statements, choose the correct answer from the options given below

ofler &1 weae Re sie 3 ;
wepet - | 1wl aaygly; s &t swren wadt 6t siedt &, ot T 10000 &t ererafer 1.5 aal & 20% &t anffos Bt sz 3 T 13310 S st 3

weret - 1| 1 o 800 afles diedt Yoenst 78 Rooelies / 2 & ara A wen 3@ 8 AR @s ow st ot 1 Brere 9 o w sl &, Ol et &t dad
1300 ez &

ITe DuEl & AcllS i, ¢l 8w s1e [docul A 3 w78l 3az oI @era $ifae ¢
[Question ID = 2847][Question Description = $2_q5Nz_PG_GP42_Q22]

Both Statement | and Statement 1l are true/ovm | 3= || S = £ [Option D = 11385]

Both Statement | and Statement |l are false/w@em | a1l S sews & [Option 1D = 11386]
Staternent | is true but Statement 1l is false/wrem | 2w 2, freg wemm 1 apesn € [Option 1D = 11387]
Statement | is false but Statement Il is true/urem | spw &, Rrsg wremr |l s £ [Option (D = 11388]

oLk B2

18) A tank is normally filled in 6 hours but it takes 4 hours longer to fill because of a leak in its bottom. If the tank is full,
the leak will empty it in

QU ¢a HIToRr: 6 e A o A 8, e sadl Al A ot @ wer 53w wel A 4 1R ot sfies Jery oern 8 Al Fus ar g A1, Al offes A
& o1 At 3, Al ol 3 T fobereit 23 3 mredt 8t ste

[Question ID = 2848][Question Description = $2_qS5Nz_PG_GP42_Q23]
1. 24 hours/24 @2 [Option 1D = 11389]
2. 15 hours/15 @2 [Option 1D = 11390]
3. 12 hours/12 @2 [Option 1D = 11391]
4. 10 hours/10 = [Option ID = 11392]

19) Rambabu ranks eighteenth in a class of 45 students. His rank from the last is
Zrany ot 45 Rrend2RE &Y wen A woreal Toare 3 aiw A IoRDT YUET SO -

[Question ID = 2849][Question Description = $2_qSNz_PG_GP42_Q24]
27/27 [Option 1D = 11393]
. 28728 [Option 1D = 11394]
. 29/29 [Option 1D = 11395]
. 30730 [Option 1D = 11396]

oLk B2

20) Consider following statements:

A. An employee's salary was reduced by 50%. Again, the reduced salary was increased by 50%. Now, his initial and final
salaries are same,

B. 64% is equivalent to 16/25,
C. If an article is sold at 200% profit, then the ratio of cost price to its selling price is 1:2.

Which of the above statement(s) is/are correct?

Grrattiloa wael gz s $Hifen
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A. Resil walardl @ dae 3 50% bt woliedl Bt sl § gorta 39 syolicpa deet d D0% @i giy Ot snelt 3 ara Fobl e wen aiferar Ao
et &

B. 64% gea & 16/25 @1

C. afé Kol arg @1 200% api Uz a0 @v, A sA® aPF 40 a9 ey goa o1 agura 1:2 3
forraiformiaa 3 3 ater - 3 werer W 2 7

[Question ID = 2850][Question Description = $2_q5SNz_PG_GP42_Q25]

A and B only/@am A B [Option ID = 11397]

B only/@swer B [Option 1D = 11398]

Aand C only/@aa A #ie C [Option ID = 11399]
B and € only/weT B diz C [Option 1D = 11400]

R

21) ldentify the fallacy committed in the argument: "Since you are yourself a meat eater, you have no right to object to
my hunting animals for sport”.

Reafcfiaa gie # sousa g Bl ugara Hike :
"HRp sma ¥Rl AE 2, 3y Wl 31 SR sSR! I ORpR d@F e AR Il UF A Oeel ©f w1 fRpE ot &
[Question ID = 2851][Question Description = 52_qSNz_PG_GP42_Q26]

Argument from lgnorance/ smfisen iRy [Option (D = 11401]

Argument ad Hominem (Circumstantial}/«iz= gits [Option 1D = 11402]
Argument ad Populum/eimermers gies [Option 1D = 11403]

Appeal to Pity/=vzon o1 amegg [Option 1D = 11404]

o B

22) In which of the following steps of inference in the Nyaya syllogism all the three terms stand synthesized?

SIRIIRID] @ RIRIARR 4 gl @ fervmifciFaa 3 31 e @ 3 sl ue diffae € 7

[Question ID = 2852][Question Description = $2_qS5Nz_PG_GP42_Q27]

Udaharana (example)/ssma [Option 1D = 11405]
Upanaya (application)/sgsrx [Option ID = 11406]
Hetu (reason}/ag [Option 1D = 11407)

Nigmana (conclusion)/feme [Option D = 11408]

b b =

23) Given below are two statements

Statement I: An inference is called kevalanvayi when it is based on a middle term, which is only positively related to the
major term,

Statement Il In kevalanvayi, the knowledge of vyapti between the middle and major terms is arrived at only through the
method of agreement in presence.

In light of the above statements, choose the most appropriate answer from the options given below

ofil <t werer Ru s & |

welel - | | AT DI Dadleadl FU a8 & fadl 8 AUe! AL T A1, ADRICAT o0 W U ST 2
ool - || | Dacieaddl i 29 i Fea &I il o siel sufiela @& aeaa 3 el & [ gre g gan 8
ITe DuEl & Alclls ¥, ¢ 8T s1e [ecul #d 3 J9 FugTe Fdz o oad il ¢

[Question ID = 2853][Question Description = $2_qS5Nz_PG_GP42_Q28]

Both Statement | and Statement [l are correct/wem | i |l dieif w1t & [Option ID = 11409]

Both Statement | and Statement [l are incorrect/wem | 3= || =i =iewr & [Option 1D = 11410]

Statement | is correct but Statement Il is incorrect/wemr | 3 &, fosg e |l srmr £ [Option ID = 11411]
Statement | is incorrect but Staterment [l is correct/wem | sumr &, ey oo || =t £ [Option ID = 11412]

e it B

24) Which one of the following would be the logical equivalent of "Only citizens can vote"?

forraifertiae 3 2t Stel "Il alRliyD & Haclol & ADA & 7 O ad e & 7

[Question ID = 2854][Question Description = S2_qSNz_PG_GP42_Q29]

All those who are not citizens too shall vote/s =elt it w=ifrs =@l £, 31 ot #acwr =52 3exr & [Option D = 11413]
All those who are citizens shall vote/3 =it o mEliEs £, wom =381 [Option 1D = 11414]

All those who can vote are citizens/q 3t S ¥ o527 &, @@fye & [Option 1D = 11413]

None but voters are not citizens/siernal @ affyr o smies adt £ [Option 1D = 11416]

o e =

25) Consider the following statements in a square of opposition of propositions and pick the correct answer,
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ferraferfiaa wasil o aovarra @ e - agzy # R St iz w8t aaz gfene :

[Question ID = 2855][Question Description = $2_qSNz_PG_GP42_Q30]

1. A being given as True; ‘0 is False/aif 'A’ w1 & #=r=m 2, o 'O smer £ [Option ID = 11417]
2. 'E' being given as False; ' is False/aiR T sprra Rrmsrn &, af I'awer & [Option 1D = 11418]
3. I' being given as True; 'E'is True/=ie | wre Remswn &, ot 'E e E [Option 1D = 11419]

4, A be given as False; 'E' s True/=it 'A sorer Rersem &, ot B a3 & [Option (D = 11420]

26) Which one of the following electronic technologies is the key technology for making the first generation computers?

gern it sovacifors wregez & formon 2g foafafiaa 3 31 oia - H Aaifors gienfere g Qenfeb & ?

[Question ID = 2856][Question Description = 52_qSNz_PG_GP42_Q31]
1. Transistor/gifsrees [Option 1D = 11421]

2. Integrated circuit/s88es =fege [Option 1D = 11422]

3. Vacuum Tube/ &=z g [Option 1D = 11423]

4. Dual-Core CPU/gwa - @iz 3t ot g [Option ID = 11424]

27) Arrange the following events that influenced the development of the Internet in reverse chronological order (that is,
from most recent to oldest):

A. ARPA established

B. TCP/IP implemented in ARPANET
C. Sputnik | Launched

D. WWW Created at CERN

E. DNS implemented

Choose the correct answer from the options given below

STToIc D AT Y PMIidRT Dol arcil foratieiiian meotiall @l e BIrerpAleR (31eria Jazl ordleidd Hcol H YreilohiA acell & ot 3) 739
A, T arz Ot g &Y Femuenn

B. azurcle & Al / ard & ssricaser

€. Fgaferas - | wr gghaor

D. # ¥ v gor # secy Socy Soe’) W Felol

E. Siuerew o1 wrileads

ofldY R 1w Rraseal 3 31 78 sme w1 awer St :

[Question ID = 2857][Question Description = $2_qSNz_PG_GP42_Q32]

1. D, E, B, A, C [Qption ID = 11425]
2. €, D, B, F, A[Option ID = 11426]
3. A, B, C, E, D [Option ID = 11427]
4. B, A, C, E, D [Option ID = 11428]

1 A

28) Which of the following statement about computer memory are true?
A. Secondary storage is non-volatile storage.

B. Video memory found in graphics cards is volatile memory,

C. Primary memory (RAM) is the fastest form of memory in a computer.

Choose the correct answer from the options given below:

DRI HAR @ Gy # BsifciRaa 3 3 ®ia A @ w716t 8 7

A. D3l A eilel - dloiesa ¥TE &

B. spfivaar & uril s arclt diE=01 I+ dicicsa A St &

C. gt Al (AR © vA) S d F O A oKl 3

ol fou s1e fepedl 3 3 73l st @1 aws difene ©

[Question ID = 2858][Question Description = $2_q5Nz_PG_GP42_Q33]

A and B only/dsm A d B [Option 1D = 11429]
B and € only/wiwe B stz C [Option 1D = 11430]
A and C only/aswT A itz © [Option 1D = 11431]
A, B and C/A, B afiz C [Option ID = 11432]

T

29) Match List | with List Il
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List | List [l

Memory Device Memory Type

A. Main Memory  |l. Magnetic Memory

B. Cache Memory |ll. Dynamic Random Access Memory
C. Hard Disk Ill. Optical Memory

D. CD ROM IV. Static Random Access Memory

Choose the correct answer from the options given below:

TRt -1 @ et -1l 3 AR Hif

och -| it -l
(sl frasa) |(dairst 1 yeo1z)

A. for s I. FvaRw Aurst

B. BJI daitst . sreentires Ysar warter st
C. 51 Rww 1. siteaser At

D. 7t & a7 3t o Iv. RRw You vada Aag

ofr fon a1e sl & 21 w1dt saz giene |
[Question ID = 2859][Question Description = $2_q5Nz_PG_GP42_Q34]

1. A-ll,B-Iv, C-lll, D-I[Option ID = 11433]
2. A-l1,B-Il, C-I¥,D-lll [Option ID = 11434]
3, A-ll,B-I¥,C-l,D-lll[Option ID = 11435]
4, A-IV,B-ll,C-1,D-ll[Option ID = 11436]
30) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The Internet of Things (I0T) is a rapidly evolving technology capable of transforming numerous areas of our
lives,

Reason R: There are no issues of security, compatibility and data privacy associated with 10T,

In light of the above statements, choose the correct answer from the options given below

i) ot Wt Bu a0 & ©  wep afdrpera (Assertion A) @ wu 9 3iiz o1 33 orwt (Reason R) v wa 4 &

sif$reperot (A) @ Sowic sifp Bsa (ar it €1) v asht 3 ol 3 6 gienBErbt 2 e s sitael ® amiw £l A agora ol @t g &
vl (R) : g 3N & & Hde d Frzn, Fewrn 3R s bl e © o1 98 ol 8

IR WUl @ ek #, ik By froedl | 3 518t 307 ©1 w6 Hife :

[Question ID = 2860][Question Description = 52_qSNz_PG_GP42_Q35]

Both A and R are true and R is the correct explanation of A/(A) 3z (R) ==t @ & 4z (R), (A) & =2t mmeen 2 [Option ID = 11437]

Both A and R are true but R is NOT the correct explanation of A/{A) stz (R) =it 2w 2 gz (R), (A) o =2t = a8t & [Option 1D = 11438)
A is true but R is false/(A) =g &, ueg (R) s £ [Option 1D = 11439]

A is false but R is true/({A) sz &, oo (R) 3 & [Option (D = 11440]

o B =

31) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Chromium and Iron contamination is found in wastewater of some industries

Reason R: Higher dose of Chromium and Iron can cause toxic effects in our body,

In light of the above statements, choose the most appropriate answer from the options given below

i) ot weet B a0 & © wep afdrpera (Assertion A) @ wu # 3iiz T 33 wrwr (Reason R) S wa 4 &
firerera (A) : DIrRE 3 dis guo & @ J=El © Aalfdre o # arRT AR 3

w1l (R) ; Tifdr itz iz ara ®1 3oa Ay 3 Jad oo ©f A 9l ur Rers yua us Jawan &
IU=ITE Bl  AClkD 3, ol few famedl # 31 718l saz &1 el Hifse |

[Question ID = 2861][Question Description = $2_q5Nz_PG_GP42_Q36]

Both A and R are correct and R is the correct explanation of A/ (A) sfiz (R) St =8 & sfiw (R), (A) O a6 =meen & [Option 1D = 11441]

Both A and R are correct but R is NOT the correct explanation of A/ {A) & (R) == &t & momg (R), (A) Ot =t cameem =it 2 [Option 1D = 11442]
Ais correct but R is not correct/(A) =8t 2 memg (R) st == 2 [Option 1D = 11443]

A is not correct but R is correct/ (A) =8t == & mag (R) =t 2 [Option 1D = 11444]

oL B

32) 'Blue baby syndrome’ in infants is mainly caused by presence of

ool 3 “og A<l Bigiw’ ypzcene: feow orzor 2 2 7
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[Question ID = 2862][Question Description = $2_qSNz_PG_GP42_Q37]

1. Sulphate in water/=m 3 =wde [Option 1D = 11445]

2. Nitrate in water/srT @ sme [Option D = 11446]

3. Fluoride in water/swT 4 oilzrys [Option ID = 11447]
4, Arsenic in water/m # amdiewr [Option 1D = 11448]

33) Climate changes involve factors, both internal and external. External ones include
A. Feedback between the atmosphere, occean and land surface

B. Solar variability

C. Earth's orbit alteration

D. Variability within the climate system

E. Yolcanic activity

Choose the correct answer from the options given below:

stcrarRy uf¥acior @ arcif¥e s a1 ®re & el oret 3 onfdd E

A, arpisd, HEAPR AT e @ da Glsde

B. #Hiz ufradereftaar

C. gzt &t e i ufsada

D. swerarg gonelt @ sftaz afyaderofmar

E. sarergzsir Ay

ofld R 1w Rraseal 3 31 78 e o awer S :

[Question ID = 2863][Question Description = $2_qSNz_PG_GP42_Q38]

1. A, B and C only/dsam A, B 3iiz C [Option ID = 11449]
2. B, Cand E only/d@aa B, C sz E [Option D = 11450]
3. €, D and E only/dae C, D 4z E [Option ID = 11451]
4. A, B and E only/daa A, B iz E [Option ID = 11452]

34) Identify the correct sequence of the following noise pollution indices in decreasing order of their magnitude in an
urban area

A. Lig
B. Leo
C. Leqg

Choose the correct answer from the options given below

orasl gie # erafer gguur @ fowroifcrtian Iamicol ®) Jold Alel d e O H T8 |
A. Lo

B. Leo

C. Leq

oitar fow a1 faascal 3 2t 7él one @1 age B ©

[Question ID = 2864][Question Description = $2_qSNz_PG_GP42_Q39]

A, C, B [Option ID = 11453]
A, B, C [Option ID = 11454]
B, A, C [Option 1D = 11455]
B, C, A [Option 1D = 11456]

o R

35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: As a rule of thumb, sites of average wind speed 8 m/s or above can be considered very good for electricity
generation from wind turbines.

Reason R: For average wind speed < 8 m/s, the power produced is not very significant.

In light of the above statements, choose the correct answer from the options given below

of) € era 2w s & ¢ wes arfdrperar (Assertion A) @ wu 3 sz gz suas @t (Reason R) & wa 3

sfirperm (A) : caaetys zfte 3 foa Fonel Uz uaa & s sify 8 dfics/ Aos W 3 aiftne gifl 2, oo uae aftrs= 21 sl sruea &
firg wgear arcst AIGN S AWwan 3
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awret (R) : qaer &t siteaa oifer 8 afiey / Adws A ww 89 ov srailRa ey & s wga siftres oidt Bl 3
I3 weell aF aned H#, ofil v Broeal § 3 1ft 3a3 o guaa Hifse

[Question ID = 2865][Question Description = 52_qSNz_PG_GP42_Q40]

Both A and R are true and R is the correct explanation of A/(A) 3fiv (R) Sl 3w & iz (R), (A) & 3 sy £ [Option ID = 11457)

Both A and R are true but R is MOT the correct explanation of A/ (A} Hitz (R) S5l 30g & uweg (R), (A) & adl == =t 2 [Option 1D = 11458]
A is true but R is false/(A) =ma €, ey (R) aveer £ [Option ID = 11459]

A is false but R is true/(A} s &, weeyg (R) =g & [Option 1D = 11460]

o e =

36) The aim of vocationalisation of Education is

forzm @ cagnrilsa w1 cga § 2

[Question ID = 2B866][Question Description = 52_qSNz_PG_GP42_Q41]

Making education job oriented/&ar @ orisnedl gemmr [Option 1D = 11461]

Freparing students for a vocation along with regular general education/FrenfET ot Brife s Ben & m@me = © =iva oo [Option 1D = 11462]
Emphasising on vocational education than on regular general education/ e s B @5 s =R Ber o aa 2ar [Option 1D = 11463]
Gradually, converting general education to vecational education/ smwemr fien @t mmen: wrriEre e 3 ubwffs wer [Option 1D = 11464]

L kad RJ

37) After the implementation of National Education Policy (2020}, which of the following types of institutions will exist?
A. Deemed to be University

B. Teaching University

C. Affiliating Technical University

D. Research University

E. Autonomous degree granting colleges

Choose the correct answer from the options given below;

et [ oitfey (2020) @ sy A6 o5 @i PrroieiRaa # A Rew gor @ Hvere &kt ?
A. Rraferer @ wasa drard

B. fergror Reafyenerr

C. merelid! kralienor ol J39g wIon

D. oiter RraRemers

E. =arm 2o ygra @wa ac wes

ol f8u a1e Rrpeal 3 A w16l S0e @l oam ifans

[Question ID = 2867][Question Description = 52_qSNz_PG_GP42_Q42]

A, B, D and E only/=wmt A, B, D &z E [Option ID = 11465]
B, C, D and E only/gma B, €, D 4iz E [Option ID = 11466]
B, D and E only/d=er B, D 3fiz E [Option 1D = 11467]
C, D and E only/&am C, D s E [Opticn ID = 11468]

a2 =

38) Given below are two statements

Statement I: Establishment of four big Engineering colleges in the East, West, South and North of the country was
recommended by N, R, Sarkar Committee,

Statement |I: The All India Council for Technical Education was set up in November, 1950,

In light of the above statements, choose the correct answer from the options given below

ofld §t west Rusre 3 ¢

averat - | 2 o F g, oft, sidrer siiv vae 9 ar &3 SrResr wds & Fearaen gerane. Avwr afifty & sepeiar az & orl
aserat - || & aifdrer sneeiter auseiidht foran afyas wor s1o6t argeas 1950 H o e

FuIns weell aF e 3, ofil R Broeal § A 18t 303 o gua Hifsne :

[Question ID = 2868][Question Description = $2_qSNz_PG_GP42_Q43]

Both Statement | and Statement |l are true/=em | 4z | gwil g & [Option 1D = 11469]

Both Statement | and Statement |l are false/mem | 3z || 3wl s & [Option |0 = 11470]
Statement | is true but Statement Il is false/@ue | 77 &, Prog @um || seea 2 [Option 1D = 11471]
Statement | is false but Statement Il is true/=get | sera 4, Reeg et |l s & [Option (D = 11472]

T e

39) Which of the following statements are true vis-a-vis NEP-20207

A. 4 year integrated B.Ed will be a dual major holistic. Bachelor's degree which will be the minimal degree qualification for
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school teachers

B. All stand alone Teacher Education Institutions will be required to convert to multidisciplinary institutions by 2025.
C. A two year B.Ed course for students having Bachelor's degree in a specialized subject.

D. Admission test to pre-service teacher preparation programs shall be conducted by the NCERT

E. A one year B.Ed course for students with 4-year undergraduate degree in a specialised subject will be the pre-
requisite for being a school teacher.

Choose the correct answer from the options given below:

fotamterian werell # oan vordxdl - 2020 day # 78 & -

A, 4 od o1 awrsfora dtes. i - g el aafstor ranae &6 3]t geht St fRenor e 2ia & sgaaa Bef disean geht

B, it fafdree Bisre faren dzereii @1 2025 aw aglirit dzensil 3 ufyafifa owen amasas glen

C. fafdree Tl & Fare 3] art el © e 2 od o . os. uigasa

D. war 3t € anz & g Jrar yd Brers Rien orRiGA! 3 gearer 2 aiten o sarde! e sreen

E. fafdree faemr 3F 4 addfa zonae 2]t am faenii) & fom v ad @1 41, us, uigaay v faener e 2ot & fow gd - aravas ond Sl
olfer 6w s1e fampeal 3 3 71él Iz &1 aas Hifag ¢

[Question ID = 2869][Question Description = S2_qSNz_PG_GP42_Q44]

1. A, Band C only/@am A, B afiz C [Option ID = 1147 3]
2. A, Cand E only/@am A, C #fiz E [Option ID = 11474]
3. B, Cand D only/@am B, C 4iz D [Option ID = 11475]
4, B, D and E only/®aa B, D #iz E [Option D = 11476]

40) Match List | with List Il

List | List Il
ARTICLE SUBJECT
A, Article 29 (1)

l. Right to information

B. Article 19 (1)(A) Il. Equality of opportunity in educational institutions

C. Article 239 lll. Free and compulsory education to all the children of age 6-14 years

D. Article 21 (A) LV. Education in Union Territories comes under the responsibility of the Central
overnment

Choose the correct answer from the options given below:

3t -1 B 3 -1l 3 AR iR

et - axeit -1
(s197e87%) (Rrerer)
A. aigieaie 29 (1) ||, gz @1 alirer

B.. g 19(1)]|.ﬁf&rﬁmﬂﬁffﬁmﬁm

(A)
C. argre®s 239 |l 6 - 14 ad < il a=ii ®1 #rp iz sforant Gign
IV, @ 7R @ JwiRid @ Aesld Moy darell HH - I=T
D. argicic 21 (A
{ }aﬁ;ﬁﬁmﬂ

i v o1e faseal i 31 18t 3w giew
[Question ID = 2870][Question Description = $2_q5Nz_PG_GP42_Q45]

1. A-Il,B-l,C-IV, D-lll [Option ID = 11477]
2. A-ll,B-IV¥,C-l,D-lll [Option ID = 11478]
3. A-IV,B-ll, C-Il, D-l [Option ID = 11479]
4. A-ll,B-1,C-IV, D-Il [Option ID = 11480

Topic:- GP42_D4_SH2_SET2_C

1) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours, So you see there has been little time to



www.prepp.in .repp

Your Personal Exams Guide

learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years, Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying, We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like, Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forraifertiae srener @) ufgu sz guaAf 3 ¢ ;

qEzalc Holed Bl airal il amen & gan 3 wfdie famra & eedl 3 wiora AN a¥ga: d9ga 21 acd; B A8 D fiig] § dsnforel @1 weton 2 i
gedl a3 ofigs (Schifbor) @ rasa @ Rl gor o staar 261 3 3z 591 gooz o1 shlaa aewiet are Al fifteer ad gd ar; Bosg woea a5aa oo
fiferrer add 31 af¥ara 3 za1 & 3 oemET Ao zaR ad 31 ara 8 d Wa Ag=a 2 & 54 Jiosl B adle stawil Yia won ©ofdd E) safie e
vo8 e waa @ afde 8 3wl e difte ol w0 gedl gz shiftrm gufteil o sFEre v 26 ad we § Gl #cgsa o1 931 JaEeT TEDIST U 1
<ol & 313 33 Als W Siiel ART A IO ¢ B AL Bl AL 3 § 53 goR 304 Ui 2 Ko siéem ol srcacu J161 261 & Koo dane afitem ©
fe1e a1are JaRI o FGIET @5 HIRTATYUL (451 @Iel Dl co1HAT AR AT 13 He AlGiD & IHD HIAWT o ATl T2 AdsT & arerfe anft sfiz 3t
@ acafter geitfera S1ot @t gon 3 sra gedt uv Shaar wi Henvor 518t & argen, Siell @ wEr TETHET Wi HI &5F ad I WA AHa 3 FH R
HIGKT 3Uc! 92 Sitdel B @ Ay 3 & & 3iiz a1 weon & fop 2 aga aufte swilc oft e aiffe #igr=r @1 yasa @a Bors: guia: serh
s ot sifer 751 8, 96 gy oz sEl arorel @5 o 3 Ry ve1 3 sw wsa aledl 3 s 9ol swefle ol vmmoht anfde s Sesior & St ordl Ot it

&H eI F6N WE ID & [ A olt-ur el w1 sowr orl e gist

Ao Bt smen e e solt Ywerdt 38 § wsi ap Ry o siual Tl @ et 3 91 ek ora 3 81 g o3 o1e & Ried arl dler A sme @
Jog IGI0f o3 A srm 3z e 919 AE e 2 fop ohet stferil 3 e oifl oo afiz v gk bl aren oIdl o &

The Scale which the author uses for representing time is:

dms R S mun SR G au o s Eas 2

[Question ID = 2871][Question Description = $2_q5Nz_PG_GP42_Q46]

1. One month = One million years/vs mz = uwe Gt adf [Option D = 11481]

2. One hundred years = Eight thousand years/ww =i of = amo snz ad [Option D = 11482]

3. One year = One million years/uvs adf = ue Mitrm df [Option ID = 11483]

4, One month = Twelve hundred million years/ew a1z = aeg = fiffrm o [Option 1D = 11484)]

2) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours, So you see there has been little time to
learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years, Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying, We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like, Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forraifortiae sremer @) ufgw siiz Qi 3z ¢ ;

ETard Holed D1 airel il s & gan 3 ofdie famra & eedl 3 wiora AN g d9ga 21 aicd; ©u A8 D i) ¥ dsnforal @1 wsieon 2 i
gedl uz ofepr (Sicfifben) @ Fasu A kel gwr @1 sitaa 381 2 31 33 Yoo @1 slias oeneEt are Al ik od gd an;, Reeq sersr @aa e
fiferrer ad 31 af¥arg & za1 & 3 oemET Ao s ad 31 are &g d W A= 3 & 54 Jiesl B adle sTawil YIa oen ofdd E; sufie e
vo8 e waa @ afde 8 3wl e difte ol su gedl gz Shifta it o sFEe v 26 ad weE § Al segsa o1 931 JawIeT TEDIST U 1
<o & 317 33 Al W Siiol AR A IO e D AL Bl AL 3 § 53 goR 304 Ui 2 Ko iéea ol srcacu #6261 & [Rbed dane sfitem ©
fe1e a1are J3RI o AGIe @5 HRTATYUL (4T ®Iet Dl 1T AR AT IS He AlGiD & IHD HIAWT ol ATl T2 AdxT & arerfe anft afiz 3t
D it guitfera slot Wl gun A S| gedl Uz Sfiast @1 Haror ol 31 UIgen, Siell @ AL TI9THR]L Wb Hl ool aY 1 el WAd & §H bR
HIGKT 3{Uc! 92 Sildel B @ Ay 3 & & 3z 31 weon & for &9 aga afties swillc oft e ailfe sigr=r @1 yasa @a Biors: guia: seel
siiar o5t sifer va1 8, 96 gy oz svEl eoroel @ ord 3 Ry ver 3 sw wsw alell A 51 90t swafle aéY vmmeht mf3e Ry SeEior & NSt ordl Ot Ah
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BH el ol ws D § [ § - et o1 sio aoed e Sist

wora @t snen woer Braess 33t gosred W ¥ wsl aw 5 sa0 srae i @ ger # off Reva wra & O g @ oo § Rer arsit dist w1 ST ar
Joe Foivf @z e sem iz st @ A wea € fop dier st 3 wiad sl o ofir v gt o eeem wd wwt E

"We must not expect even civilized peoples not to have done these things”. This observation suggests that:

" gl et awiic ot TaTelt onfée s wei oo R wea sl of A ooa w1t few g@ie’, s Ruavlt @t amrt 2 fp

[Question ID = 2872][Question Description = $2_q5Nz_PG_GP42_Q47]
1. Civilized people have never done any fighting and bullying/zma o=t o @it ©F gz Az s wwronl o T ot fen 2 [Option 1D = 11485]
2. Civilized people have also engaged in fighting and bullying /3w &t oft a2 it =am sowoer & @eg i siferg 32 & [Optien 1D = 11486]
3. There is nothing wrong in fighting and bullying/wg =1 26t sz sam tpremt # T g2 sdf & [Option ID = 11487]
4. Those who fight are uncivilized /o= T aret == s 25T £ [Option 1D = 11488]

3) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours, So you see there has been little time to
learn in, but there will be oceans of time in which to learn better. Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years, Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying, We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like, Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forraifortiae sremer @) ufgw siiz Qi 3z ¢ ;

qETardd Holed D1 airel il s & gan 3 opfdie famra & eedl 3 wiora AN g dga 21 aicd; ©u A8 D i) ¥ dsnforal @1 wsion 2 i
gedl uz ofepr (Sicfifben) @ Fasu A kel QR @1 sitaa 361 2 31 331 Yoo @1 sliae oeneEt are Al ik od gd an; Reeg s @aa oo
fiferrer ad 31 af¥arg & za1 & 3 oenET Ao s ad 31 ara &g d T AT 2 & 54 Jiesl O adle sTawil YIa ©en ®ofdd E; sufie e
vo8 e awa @ afde ¥ 3wl sue diftie ol su gedl gz Shiftra guftwdl o sFEe v 76 ad wed § Gl #egsa o1 931 JawIeT TEDIST U 1
<Gl & 313 33 Al W Siiol AR A A0 ¢ D AL Bl AL 3 3 53 goR 304 Ui 2 Ko iéea ol srcacu W6 61 & Ko dane sfitem ©
fere aronmz A3 (e Aolea @ HIYUl eI @i I TIRTHT HId AT M6 He Alolb: EH I3 HIAWT &1 ATddel ©3F Jdhd 2 aeria anft sfiz 3
@D it gt slot Wl gun A S| gedl U3 Sfiast @1 HaroT ol 31 UIgsn, Siell @ A5 TI9THR]L Wb Hl ool aY 1 el WAd & §3H bR
HIGKT 3{Uc! 921 Sildel B @ Ay 3 & & 3z 31 weon & for & aga afties swillc oft e ailfe #igr=r @1 yasa @a Bors: guia: sereh
s ot sifer va1 8, 96 gy oz svEl eroel @ ord 3 Ry ver 3 sw wsw alell A 51 90t swafle oY vmwolt mf3e Ry Sesior & NSt ordl Ot Ah

&H A el e AD & b A Dft-wene Rt B st orl e giEr

Ao Bl anen o s sl gt 78 & asi a@ fp sl sus Tari & o1 3 oft fieia oo 3 41 g oS o1e & forerdl oredl dist &ty s1g an
Jog 10T b3 A srm iz TS 919 I8 e 2 fop oot s1feril 3 e oifl ooE afiz v gt bl aren oIl o &

If one compares the existence of jelly-fish and man on earth, the man is:
fe ©F i sigs (Adiiber) iz e @ gedl uz sif¥ara Bl gelon o 8l IR 2 .

[Question ID = 2873][Question Description = $2_q5Nz_PG_GP42_Q48]

1. Almost of the same age as jelly-fish/oemwer 33t aa aef 3 dar B o & [Option D = 11489]
2. Contemporary of jelly-fish/=fm = Zneels [Option ID = 11490]

3. Very young to jelly-fish/oftps 31 aga =21t ang a1 [Option 1D = 11491]

4. Older than the jelly-fish /=i 31 afire ang @0 [Option 1D = 11492]

4) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours. So you see there has been little time to
learn in, but there will be oceans of time in which to learn better, Taking man’s civilized past at about seven or
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eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years. Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much, The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying. We must not expect even civilized peoples not to have
done these things, All we can ask is they will sometimes have done something else, This is what the story of mankind
has on the whole been like. Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

frrafeRaa srerior o) ufge sz geai ez 8 :

AgIeIcl AT T sial 3t 3R &t g3n 3 wfire R &6 ot A e AR aeg: 9ga ST aKrp; O A6 @ 191e]  Ssnforpl @t arsen 2 e
gedl uz sige (siciiiborn) & Fasu d kKol yonr @1 silad 221 2 iz $3 Y oI slldd cenel Az Al Bifertol add gd o fooqg #Ager daa eo
fifererer od A afaca & var ¥ Aiv oepET 3o sz ad A @ A & e agea B va siost & adle snerwidt qia wen wiver §; sufig aa
Foa ferT wea @ ubyies 3 3wl s <o ak s gedt ur sifim qutRil o1 e oo i ad aer 3 O 3T © 991 3P TRHET O AlG
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Ao AT T Sheer i o 3y 3 8§ 3 A & weon 3 B5 i wga st swllc &Y s@on i@y s w1 yeroia e e gefa: s
sfia Ot #ifer 51 &, 98 g oii seml toroel @& o d B s & o0 v el A of 23l swils ol wwwil anfde [ Soslel 3 dlsi w16l bl gl
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#ora 21 snen T R 2 gl i B sl a9 15 Fa el TRl & gor 3 off faer @t 3 < g o o1 & fatord el deT w0l Ie A
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From the point of view of the evolution, "human beings are very young children indeed.” The author says this, in order to
show that:

"pidrn forpret &t 2wl 21 Aol a3 gl O AR D JickD & AEiD @l U6 Sl Az gollel @ forw § kb -

[Question ID = 2874][Question Description = $2_q5Nz_PG_GP42_Q49]
1. VYery young children are not civilized/aga o= ang 9 acre w1 ol 271 2 [Option 1D = 11493]
2. Evolution does not help civilized forward /o Fo e @1 aE 90 J J6re oidd 2 & [Option 1D = 11494)
3. Human beings have learnt very little in a very long time/aga o Ipw 3 7o o afraew sfEewt i Reen & [Option 1D = 11495]
4. Human beings are still at the beginning of their life on this earth/xwmm st ot 3 gedt @ et Stom 6 aeine smeen 3 8 2 [Option 1D = 11496]

5) Read the given passage and answer the questions that follow

After all, the race of men has only just started. From the point of view of evolution, human beings are very young
children indeed, babies, in fact, of a few months old. Scientists reckon that there has been life of some sort on the
earth in the form of jelly-fish and that kind of creatures for about twelve hundred million years; but there have been
men for only one million years, and there have been civilized men for about eight thousand years, at the outside.
These figures are difficult to grasp; so let us scale them down. Suppose that we reckon the whole past of living
creatures on the earth as one hundred years; then the whole past of man works out at about one month, and during
that month there have been civilization for between seven and eight hours, So you see there has been little time to
learn in, but there will be oceans of time in which to learn better, Taking man’s civilized past at about seven or
eight hours, we may estimate his future, that is to say, the whole period between now and when the sun grows too
cold to maintain life any longer on the earth, at about one hundred thousand years, Thus, mankind is only at the
beginning of its civilized life, and as | say, we must not expect too much. The past of man has been on the whole, a
pretty beastly business, a business of fighting and bullying, We must not expect even civilized peoples not to have
done these things. All we can ask is they will sometimes have done something else. This is what the story of mankind
has on the whole been like, Even our own age has fought the two wars in history, in which millions of people were
killed or mutilated. And while today, it is true that people do not fight and kill each other in the streets.

forraifertiae srener @) ufgu sz guaAf 3 ¢ ;
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Why does the author say that there has been little time for man to learn?

oz =il el & Kb Aoyt @ ur sifiee & e sracu w1 8 7

[Question ID = 2875][Question Description = $2_qS5Nz_PG_GP42_Q50]
1. Man has to be busy in earning/me= @1 sifsem 3 =rp sgor & [Option ID = 11497]
2. Man has been busy in battles/nge=I csE i aga =wa 3@ 2 [Option 1D = 11498]
3. Civilization process has just begun/merr 95t g anft amdsr & &5  [Option ID = 11499]
4. Belief in the availability of plenty of time/wiin s#er @5t sucemwT & fram £ [Option 1D = 11500]




